s

127. The area of a rectangular land is 240m?2. If 8m is decreased from its length it will

2 N

become a square. Then the length and breadth of the land respectively are...

Mensuration : 2D Area
(A) 12cm, 20 cm (B 12cm,8cm 2011-2019 Compilation

\?/ 20 cm, 12 cm (D) 20 cm, 8 cm

@ Qsdias age awdar uriuaey 2408°. Ss@eLw BalusssSdmbs 8 Gss

GPDSSTO NG R FHTLMNGD. ByFen Hard, s PG
(A) 12 Qe85 20 QS (B) 12 @QadS, 8 Qe

(C) 20Qsi8, 12 Q&S D) 20 Q&15, 8 Qsb

Find the side of the equilateral triangle if the area of an equi-lateral triangle is
900+/3 cm?

(A) 30cm A 60 cm

(C) 90cm (D) 120 cm

@ sLUES WECaTasSlear LFliLaTe, 900+/3 Qs.18.2 crafler LsS DTS HTETS.
(A) 30 Qs.5. B) 60 Gs.18.
(C) 90 Qs&.b. (D) 120 @s.15.

The semi perimeter of a triangle having sides 15 cm, 20 ¢cm and 25 cm is
(A) 15cm - (B) 45cm
& 30em @) 60cm

15 Q&.15., 20 Qe.15. wHmbd 25 Gs.8. LEs eneisd DenaL @@ P&Coramsdlean s
&HMeETe |

(A) 15Qe&.1b. - (B) 45Qs.5.

(C) 30Qs.5. (D) 60 Qe.i5.



4 .
46, Find the area of a semicircle whose radius_ 1s 28 cm.

(A) 618t':rn_2 o - (B) 144 em?

& 12emr (D) 784 cm?

o 28 Q.8 ieml_m&ml;rmi_'_l_‘e_'r,ﬁeh VUGS STETs

(A) . 618 Q&..b2 _ (B) 144 Qs5.5%
(C) 1232 Qs.52 | (D) 784Qs.8%
> 22 . . . |
6. If x7, then the area of semicircle with radius 35 e¢-m is

(A) 1850 sq.c.m.

W 1925 sq.c.m.

(C) | 2850 sq.c.m.
(D) 3850 sq.c.m.

. .22 . . . -
7 - iy Ea eresfled p7id 35 Qe Qagnart ey el L dlen LrlUeTeureng)

(A) 1850 5.G&.185.
(B) 1925 Q&8
(C) 2850 &.0s.8.
(D) 3850 5.Qs5.8.



g& Area of semi circle whose diameter 0.14 cm is (Take zr=%)

ﬁf 0.0077 em? @B) 0.77 cm?
(C) 0.077 cm? (D) 0.7 cm2

eflCL1b 0.14 Qs.8 Qarewr Seny eul_LgHen ugiiueney (7 = 2—”2 crans Qamens)
{

(A) 0.0077 Q&..5% (B) 0.77 Q&..52
(C) 0.077 Q&..52 (D) 0.7 Qs.82
7 _ _
47.  The lateral surface area of a cube of side 12 cm 1s
(A) 1l44cm? (B) 196 em?
I st6em (D) 664 cm?

12 cm UES SieTey DENETL SadsgrsHan UESL UTUL

A) 144 Q5.8 (B) 196 Qs.&
(©)  576Qs.8° (D) 664 Q5.8 .
o : .
1. A sector containing an angle of 140° is cut off from a circle of radius 9 cm and folded

: 3 2
into a cone. Find the curved surface area of the cone. (zr = 72)
7

‘/) 99 sq. cm (B) 254.57 sq. cm
(C) 22sq.cm (D) 126 sq. cm

9 Q&8 yrwerer @m alLsHdmbg 140° ewvws Csreambd Gsram. @@ el
ComaiueHow Qe qQuUBss DB DTESDET RHH@MSSH @@ FalbUTESTED,

SIS s ; ; : 22
e &G nlbllen cuameaTUTLIHLIS &T6s. (;r =—
7

(A) 99 5.Qs.8 B) 254.57 5.Qs.8
C) 22s5Qs5.5 (D) 126 5.Q5.56



66. A boy cut a sector containing an angle of 140° from a circle of radius 15 em and he folded
the sector into a cone. What is the curved surface area df the coné (nz%]

(A) 572 sq. cm (B) 527 sq. cm
7 275sq.cm _ (D) 257sq.cm

15 Q&8 @yrapenar @ L iHl\mbg 140° ennwsCarestid Qamaim_ 8@ el L_sCamerls LgSHenw
@@ wrarae dallydudss S rhismeT QalaaTis @m sbursHamd, fleaL_&@ b

Sab196l GuENETLILIL] TemaT 2 (:rz—z,—?gj

(A 572505 8 | : (B) 5275 Q.18
(C) 275s5Qs8.8 (D) 2575.Qs.8
51.0 Find the perimeter of a semicircle of radius 28 cm.
(A) 128 cm (B) 66 cm
ﬁ 144 cm (D) 56 cm
2,7b 28 Q&5 2 e w Jereul_L G SHDHETE, SHTewr.
(A) 128Qs.8 (B) 66 Qg.5
(C) 144Qs.8 (D) 56 Qs.8
lials

14. A horse is tethered to one corner of a rectangular field of dimensions 60 m by 42 m
by a rope 14 m long for grazing. How much area can the horse left ungrazed?

2366 m> ' (B) 1366 m?>
(C) 1827 m> (D) 2212 m?
Qecueus eugailoomear 60 5 x 42 5 ufloramd Qarar sarsHe @@ ppoauld @m GHor

Cuweugpsns 14 5 ferb Qaremr suipdlamed s iUl Qarerg. Gy Cuwurs sargden

UTLIeNUS STeRTs.
(A) 2366 52 (B) 1366 82
(C) 1827 82 : (D) 2212 8%



H If the circumference of a conical Wooden piece is 44 cm then find its volume when its
height is 12 cm.

W 616 cms (B) 528 cm?
(C) 512cm3 (D) 576 cm3

44 Qg.5 sHmearayaTaT G(H u;ryé; b 2w 12 Q5.8 crefléd, 916 saldIAeir HTDieT6, WITF?
(A) 616Qs.5° (B) 528 @s.8’
(C) 512Q@s.8° (D) 576 Qs.15°

%g A solid sphere of radius 9 c¢m is melted and cast into a shape of a solid cone of same

radius, find the height of the cone.
(A) 9cm (B) 81cm

(C) 27cm ’ w 36 cm

9 Q&5 gyyaperar m Hawmos Canargamss Caram(h Cs < yaparer saby Qe LTe ,

Di&FaDIY6T 2 WD wimg)?

14

(A) 9Qs.5 (B) 81@s.8
(C) 27Qs.8 (D) 36Qs.5
54.  Find the area of equilateral triangle whose circumference is 180 cm.
(A) 155.88 cm? M 1558.8 cm?
(C) 900 cm? (D) 900.8 cm?2

180 Q.5 smmerey Qararr @ swLES p&Caransder UFLLTMCS &TaHTS.
(A) . 155.88 Qaif° | (B) 1558.8 Qa1
(C) 900 Qe (D) 900.8 Q&i5°
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139. The radius of a cart wheel is 35 cm. How many revolution does it make in travelling
a distance of 154 m

W

B) 189
(©) 119
(D) 86

ﬁmL@ cueRTg.& s&aTHSle 27 35 Qe.15. g 154 B Qarerewe) LGSR, SHFFEHTLD THSDET

PsaDpsT SHHIMEGD? ,
A 170

B) 189

(©) 119

(D) 86

16
192. The total surface area of cube is 384 m2. Find the side of the cube

@) 8m | 3 sm .

©€) 4m . » (D) 6m

R(H H& F5ITSH6 QMSS cuemerurtiL) 384 m? arafled iFem LIGHLD GTeuGUETEY

+

A) 318 ; B) 815

C) 4 g D) 615



- 17. A cubical tank can hold 27,000 litres of water. Find the dimension of its side.
(A) 9cm (B) 9m
3 m (D) 3cm

@ sag 887 euigeu BigQsmigufen Qarerereray 27,000 L it erafle, g6 LGS DjeTancus

G ITEHT.
(A) 9@Qs.8 B) 948
(C) 38 ‘ D) 3Qs.8
67. The sides of a triangle are 8 m, 10 m and 6 m, then the area of the triangle is
J() 24m? " (B) 18 m?

(C) 36m? D) 72 m?

P (psCananmsdlen Lba eierra;sah 815,10 & wombd 6.5 Grssﬂda'a{ga& LpLILeTey eTeleueTay?
(A) 04 52 o ' (B) 18 82 ' :
(C) 36582 N (D) 7T2.82

19 : ’
83. If two cylinders of equal volumes have their heights in the ratio 2:3, then the ratio of

thejr radii is
A) 6:43 B) J5:43
(C) 2:3 v 5.2

Cr sar semewaus Qara @@ e (measaflar e wynisaflar eflflgn 2:3 erafled eumdlen
Syriusafler elldgwrang

A) V6:4B | B) 5:43
(C) 2:3 D) 3:42



20
84. The ratio of length and breadth of a rectangle is 3:2 respectively. The respective ratio

of its perimeter and area is 5:9. What is the breadth of the rectangle in metres?

v 6m (B) 8m’

C€) 9m (D) 13m

@@ Gsaaussdar Bard wHHL swsHar ellfgn wpeanCu 3:2. sbsaaissdar snperay
wHmid ugtuareien eldgw wanCw 5:9. aafle Gracussdear g B LMo srars.

(A) 68 B) 8B
C) 98l (D) 13 B
21 - . -
17.  If the side of a square is increased by 20%. Then its area is increased by
(A.) 20%
(B) 40%
(C) : .25%

& 1% |

TI) &@ﬁ.ﬁs‘m u&sh 20% ofafsdpg erafle Siger ugly ésrg‘e_r,_mm speizn ofsfsEn?

(A) 20%
(3) 40%

(O 25% o | | s
D) 44% | |

.22, Fmd the l.eng.th.of the altitude of an equilateral tfi_angle of sides 3v3 ém :
A) 54 T ®) 40

N a5 S @ 42

3v/3 Q&8 g LSBT OaTATL GO SUES PECHTETSSen @wm T &reins,
@ 54 L ®) 40
. (© 45 o S D a2



23,
71.

25
10.

In a triangle with area 48 sq. cm, its base is 4 cm greater than its altitude. Ther the length

of the base of the triangle is
(A) 8cm : ' ‘ 12 cm
(C) 16cm - ' (D) 10c¢m

48 #Qs.8. upiyeLw G Q,pa‘séarrm{;ﬂe‘:. SFET S LILESD, g GHHwgseseilL 4 Qs.8
Si851D aefled ged g ILGsESHan Siara)

(A) 8GQsd. - (B) 12Q@s.b.

(C) 16 Qs.d. - ' (D) 10 Qs.b.

“Find the approximate length of the longest pole that can be putin a room 10 m x 8 m x 5 m.

(A) 15.25m . (B)\/13.75m
(C) 1435m | (D) 12.85m

10 8 x 8 8 % 5 18 yaraycar @0 Sepuda meuas.ssuu@m W& BeTome GaarmS]an @{mmnm@
(Camymuiora) :

(A)  15.25 4. (B) 13.75.8
(C) 14.35.8 | (D) 12558

A man riding a bicycle, completes one. lap. of a circular field along is circumference.at the

speed of 14.4 km/h in 1 mt 28 sec. What is the area of the field?
(A) 7958 sq.m.: (BW856 sq.m.
(C) 8842 sq.m. : (D) none of the above

S waflgear emssdlafler aulLwrseeter QLo q;g')g)xé]g)neﬁ. Sleuaflen Geusd 14.4 £/ wenllCriyb.
Sjeuen eT(HEFH&QsmeTEnd Gryw 1 Hldl_b 28 Gbmg wireame g6 LITUL STEUGIETE,?
(A) 795818 (B) 9856 5’

(C) 88428 D) G ggilaeme
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31.

27
77.

28
34.

What would be the measure of the diagonal of a square whose area is equal to 882 cm??

(A) 38cm (B) 32cm
o 42cm D) 48em
882 Qe.f* g unUUNeS Qe smrgdler, apenwed LSl ieray eTeme?
(A) 38 Qsif B 32Qs.5
- (C) 42 Qb o (D) 48 Qs

~ The area of a circle ie 154 sq.cm. What is the cireumference of a eircle?

(A} 28em o 44 cm

{C) &8cm ' ' (D) 108¢cm

L Fflan gy 154 sgig Qs aallé e LgHen spm il fen siene; creren?
(A} 28dQsd (B) 44 Gs.b

(C) 88Qs.f | (D) 108 Qs.b

The radius and length -of arc of a sector are 10 cm and 15 cm respectively. Find its perimeter
(A) 15¢cm

\M 35 cm

(C) 25cm
(D) 30 cm

@@ el &Csmans LHulan aleelar Berd 15 Qa5 oM <47b 10 Qe.8 eraflér Sigean apmerenaud

SIS

(A) 15 Q&5
(B) 35Q&.8
(C) 25Qs.8

(D) 30Qs.8



30
56.

Water flown into a tank 200 m x 150 m through a rectangular pipe 1.5 x 1.25 m at 20 kmph.

Water level rise by 2 metres in ~——— minutes.
(A)  69min W@ 96 min
(C) - 98 min : _ (D) 99 min

200 5 Berapd, 150 18 sisaib o erer Gmigullen 2.arGer 1.5 8 Serapid, 1.25 8 siseaptd 2 aren
FgieILa GRTL EpeLTs LaflléE 20 &8/ Cassdled sameantt aflpbsnd semafi 2 f o wiy

‘@Lﬂn_rﬁwsei'r,

(A) 69 min . | (B) 96 min
(C) 98 min _ (D) 99 min

If length is 12 m and breadth 8 m then perimeter of rectangle is

(A) 96m & om

(©) 48m B (D 20m

- @@ Qecuausgdlen famd 12 15 oipar sisob 8 8 erafléd Waciassdlen spperaunag

(A) 968 B) 408
(€) 488 ' . (D) 208

In a circle of radius 10 cm, an arc subtends an angle of 90° at the centre. Find the area of
major sector.

-

(A) 1650 - B) 16{-))0 i

1650 1650 .

C cm? \ M cm?
™ ‘ 7

10 Q&.8. gyyperer h eul L g, 2ipen amwvwsdle 90° Caramsans e eul Lald 2 mheuns@Hns

erafed WlalQuilw eul L g CaramiiugHuller uFlienus STems.

-
(A . o s (B) 16{;’0 5.Q8.8
(C) 1??0 &.Qs.18 (D) @ §.Qs.8
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60.

33
42.

34
43.

The perimeter of a rectangle is 60 metres. If its length is twice its breadth, then its area is
(A) 160 m? (B) 180 m?2"

W7 200m? | D) 220 m?

@@ Oecucussdlen apmera) 60 BT sFQsaucussden Berbd, iswsder @@ml_n'a@ crafléd pigen
UrlUueTey Greinug;

(&) 160 sy St g (B) 180 sziy Bt
(C) 200 &gy B (D) 220 sgyy B

In a circular path, the radii of 2 concentric circles are 56 m and 49 m. Find the area of the

circular path.

(A) 3210 m? : d 2310 m*

(C) 3120 m? (D) 2130 m*

@ el Luureguien @ m Qurgemww el Lmisar 47 56 B wpmib 49 8 eraflé eul L urengulen

UTULS STETs.
@A) 3210 & v © ®) 23108
(C) ~ 3120 & : (D)’ 21308

A play ground 60 m X 40 m is extended on all sides by 3 m. What is the extended area

"(A) 366 m? : (B) 666 m”

& 636 m? ‘ (D) 638 m*

60 B8 X 40 & emeydrer eflaveTwT B @WFTEGHD PHGHU USGSBISEHD 43 B
ellflejuu®ssuu®dng — elfleyu@BSsiu_L uGHuler uFLueTa GTee ?

(A) 3668 (B) 6668
(C) 6368 _ (D) 6388



1r

36

89..

37
40.

The Lateral Surface area and Total Surface area of the cube having side 24 cm are
respectively.

(A)  3204°'cm?, 4365 cm?
(B) 4302 em?, 6534 cm?

& 2304 cm?, 3456 cm’

(D) 2340 cm?, 5634 cm?

LSS jeTe| 24 cm 2 LW @ saIEgITSHer LnUurly wHmib Qurssls urliy eraug wenGu
(A) 3204 Qeif’, 4365 Qaif’ '
(B) . 4302 Qaif’, 6534 QoS
(C) 2304 Q&8 3456 Q&8
(D) 2340 Gas’, 5634 Q&8

The measures of the angles of a triangle are in the ratio 5 : 4 : 3. Find the angles of the
triangle ’ '

(A)  65°, 60° and 55°
(B)  85° 50° and 45°
(C) 75°, 70° and 35°

M 75°, 60° and 45°

@@ p&Caramgsler qpanm Carammmisafien el Slpmiger 5:4: 3 el Camamt ieneysmens ETams.
(A)  65° 60° pmib 55° " |

(B) = 85°, 50° pmib 45°

(C) - 75° 70° wmmib 35°

(D) 75° 60° womb 45°

The diagonal of a square is 20 cm. Find its perimeter
(A)  20¥2 cm » | “(B) 54v2 cm
W 102 cm . D) 56vZ em

@ egirddan apemaeilL b 20 Qa8 crafldd DISET FHMETE| &HTEHT. |
@A) 20v2 Qs.b. (B) 54v2 Q&.8.
(C) 402 dei8. - - . : D) 562 Qs.i8.
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44.  Ratio of surface area of a full sphere to the total surface area of a hemisphere having same
radius is :
4 2
s 4:3 ; B): ===
% . 62)) 75
©) 1 K M 2:1
@Gy <7 oae Gerar wws Csragder uplurLGpEL, i@rEGsrasdear Quwrss.
UnUurdn@n 2 erer el
‘ 4 2
A 4:3 B) - TS
(A) (B) 5"
) 12 D 2:1
39 e _
1. Breadth of a rectangle is 27 cm less than its length. If the perimeter is 3 m 6 cm then its
length and breadth are respectively
(A) 100cm,73cm (B) 80 cm, 53 cm
G 90cm, 63em D) 103.5cm, 76.5 cm

Qecuaus@wranen Ssowrang g farsmsel 27 Qg.8 Gampeuns 2 drarg). snpperey 3 5 6 Q.8
<5 QmUlen & Qssuaussdlen Berbd, s wenGu

(A) 100Q&.5. 73 Qs.8 g (B) 80Qs&.5, 53 Q&8

(C) 90Qs&.85, 63 Qa8 * (D) 103.5Q@s.8, 76.5 Qs..8

54.0 Two angles are in the ratio 4 : 9 and their supplementary angles are in the ratio 8 : 3 then

the two angles are respectively

o 60,135 B) 30, 80

(C) 40, 90 ‘ (D) 80, 30

@rawr(h Caremmger 4 : 9 erem Hflzss8d a.leug'pgﬂén Blens Blpuys Casnemmuser 8 : 3 erenp
 eildlzsSib 2 araren erafle) icuellm Carammiger epGuw

(A) 60,135 (B) 30,80

(© 40,90 D) 80, 30
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54.

42
16.

43
. 21.

Area of a square is 169 cm?. If the area of the square increases by 69% by what percentage
does the side of the square increase?

A 13% (B) 33.3%

y 30% D) 26%

- @ sHITHHen uyliuatey 169 Qs.8° @igean urtiueTey 69% wdsfNésiiL@uLmien sgTsdHar LEsSS e

fafGen sge550 eremnen?
A) 13% ‘ B) 33.3%
© 30% (D) 26%

If the diameter of a bicy.cle wheel is 63 cm, then the distance covered by its wheel in

20 revolutions is

(A) 50m 28 c.m
(B) 43m34cm
.(C) 51 m 30 cm

w 39 m 60 cm

TI0) L&deﬂqé séarsdan LD 63 Q5.8 arafled, @i 20 spmiseT HHHlenTed asl_.é;@tb'@gnma)sﬁ\ér

9jeTey

(A) 50528 Q&.LB.
(B) 43834 Qa8
(C) 51830Qs.8.

(D) 39860Qe.5.

A rectangular water tank is 8 m high, 6 m long and 2.5 m wide. How many litres of water

can it hold?

(A) 120 litres (B) 1200 litres

(C) 12000 litres 7 120000 litres

8 8 2wyd, 6 5 Hemd wH@ID 2.5 B Ss@WeLW Gm Qsdaus ganalt Azm_guid assmen Lt
gement QasTeTERID?

(A) 120ed (B) 1200 e

(C) 12000 &M (D) 120000 el

™



44 |
60.  What would be the measure of the diagonal of a square whose area is equal to 882 cm??

(A) _38cm . (B) ‘32cm
42 cm (D) 48 cm

@ sg5Sen LTy 882 &.0s.8 crafld oibs saITsHen peeeill L sl ety eranen?

(A) 38@Qs.8 (B) 32Qs.5
(C) 42Qs.8 ' (D) 48 @s.8
45 % :
62. If the area of two spheres are in the ratio 1 : 4 then the ratio of their volumes is
(A ~1=2 459 i

NI R e D) 1:6

B Caremusafien ugtiuereilen eNfsD 1 : 4 arafld eupdlen sar sarellen eHldlswd
@) 1:2 BT -
©C 4a:8 (D) 176
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66. Consider the following :

9 ]
4 e 9
6 ' 8
II. 111

Which one of the following conclusions can be drawn from these figures?
(A) The areas of the three ﬁggres' are all different
% The areas of all the three figures are equal
(C) The perimeters of the three figures are equal
(D) The perimeters of figures I and II are equal

9
4 - 6 9
: 8
e I

&é&&a’m_ wyeysafle aps pymeu Cupsar uLkisefler ppab erHESLMD?

A) ey umsafler ugliuetey ganpsQareny Caumur s 2 arerg)
(B)  eypeny uLhsefian LuFliueTey&ET FOWLTSE 2 aTaTg)
(©) ey uLRuseflan &HYETESHEHLD FLOLOTE 2 dTaTg)

(D)  sorbd wHmb Greermd uLkiseflen &HmeTay SO

47

13. If the lengths of the sides of a triangle are 11 ¢cm, 60 em and 61 cm, then its area is
(A) 660 sq.cm W 330 sq.cm
(C) 145 sq.cm’ (D) 310 sq.cm

@ &Ganarsdern usshisear 11 Qg.15, 60 Qg.8 wpmb 61 Qg5 eraflé) eiger LFliLemey eremLig
(A) 660558 . (B) 3305Qs.8
(C) 145 5.Qs.5 (D) 310&.Qs&.8
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52.  Find the area of the iron sheet required to prepare a cone of 24 ¢.m. height with base radius
7 c.m.
@/ 704 c.m? - (B) 17.04 c.m?
0.704 c.m? , (D) 0.0704 c.m?

24 Qg.15. 2wyb LHMID GUES D 7 Q&S 2.mLw @@ by suriléss Csmeuwrren @@qu. \
B&TSHS 6 LU ST6Ts. '

(A) 704 Qs.8? (B) . 7.04 Qs..5°

(©)  0.704 Qs8> | (D) 0.0704 Q.15
49 | ' . :
- 756.  Whigch one of the following cannot be lengths of sides of a triangle.
| 4 cm, 11 cm, 16 cm _ (B) 5cm,9cm, 13 em
(Cy 6cm,8cm,12cm ' I 7em, 10cem,-11 cm.
: &Qa;a&ﬁrgsuﬁ)g‘ﬂeb a1 (psGanamslen Lbstumaflan ;Eerrréw;éﬂra; @{%PDLDU_I a7
(&)  4Qsab, 11 Qa8 16 Qa8 - (B) 5088, 90s.8, 13 Ga.f.
(€) 6Qsif,8Gs5,12@sE - (D), TQseiS, 10 Qsf, 11 Q.
- 50

70.  Which one of the following cannot be the sides of a triangle?

(A) 4,5,6 3,4, 5

© 2,34 0(1..,

GenaumeuareupmieT eTeneu (PECHTRTS 6N LSSHISTTS @) (HES (LPlYUIs)?
(A) 4,56 ‘ B) 3,45 '

€ 23,4 D) 1,23



&

52~

74.

53

The tliickness of a hqrﬁispherical bowl -is 0.25 cm. The inner radius of the bowl is 5 cm. Find

the outer curved surface area of the bowl. (Take % = 27%) '

. (A)  153.25 sq.cm. A M 173.25 sq.cm,
©  145.25 sq.cm. ‘ (D)~ 163.25 sq.cm.

&mry&@&nm 6uig eu ﬁwemg,ﬁm &g DET 025 Qaif @qg;@rr &I_L;ﬂ) qgg__wm b Qe eaile

&5@@@5&@,@@1 Ceuafiiiym Guemmulj'umuss ssrrsmai (7= 2—'_2)
(A 153.95¢@ab B 173.25 5088,
(C) ° 145.25 Q5. K (D) 163.259.Qs8

From whlch one of the followmg data the triangle ABC cannot be formed"

(A) AB-BC-c4 L\MAB 9BC = 3CA
(C) 4AB=2BC=3CA (D) AB=BC=2CA

&dm@@memmﬁ;gj_sh ABC eTé Qpé;@a;nsmgsﬁg, 2 (FEUMES (PigITg aﬂula:ﬁa org?

(A) AB=BC=CA . (B AB=2BC-3CA
(©) 4AB=2BC=3CA (D) AB=BC=2CA

Find the perimeter of a square whose area is equal to that of a circle with p_eriineter 2mr

@ 2z - o ® Aar
O A o "

Q7T SmHmee| £ dTeT el L e Lmlueteylb @ E&ITSAen LiFliLeara|b #oib deafld #5rsdlen speTey -
GTéman? ' - |

A . 2w o ® Am

© 4 D 4w
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54
75.

55
116.

The inner circumference of a circular race track, 14 m wide, is 440 m. Find the radius of the

outer circle

(A) 8 m ' y&lm'

(C) 70m ) (D) 80m

14 Sioi ssowparw ¢m alLwrar ghunmsuiea oar appearey 440 BSlid @Ew. Geuafl

UL LSS DYTSMSS HTERTE
A) 85 B) 8418
(C) 7048 (D) 808

A wheel makes 1000 revolutions in covering a distance of 88 km. Find the radius of the
wheel

(A) 13 m (B) 12m

© 1lm W 14m

88 .85 Ggrenevey GQeweusn@ (@b &ambd 1000 apnésdar aBsss0anadng. iFesar5Hen oD
SIS

(A) 138 (B) 124
© 118 D) 148

A wheel makes 20 revolutions to cover a distance of 66 m. Then the diameter of the wheel is

m

‘/ 1.05 B) 1.04

(©) 103 M) 1.02

@@ wéleppHan sss7b 66 5 Asrarwe) sLds 20 snnser spblamd osessrsdean el LD
5 @b

(A)  1.05 (B) 1.04

(C) 103 (D) 1.02



(9]
A

The height and area of the trapezium are 12 cm and 102 cm? respectively. If one of the
parallel side is 8 cm then the other parallel side is

(A) 8cm ’ M 9 cm
(C) Tecm (D) 6cm

e sfeausgder 2 wrb wHmL LFLY WeapGu 12 cm wHmb 102 cm?2. wbs shaussdear Gm Qe
usssSen Bard 8 cm erafld wH@DT Qenenr usssHen Bard - '

(A) 8cm (B) 9cm

(C) T7cm (D) 6cm

If the diagonal of a rectangle is 17 ¢cm long and the perimeter of the rectangle is 46 cm, then
the area of the rectangle is

M 120 cm?

(B) 152 em?
(C) 112cm?
(D) 289 cm?

e Qscucussden epaaillLsdar oetey 17 Gl yeayb g sHoearey 46 Qs eg,smm
@ mullen, oigen uFLUeTa eTemen?

(A) 120 cm?
(B) 152 cm?
(C) 112cm?
(D) 289 cm?

In a right triangular ground, the sides adjacent to the right angle are 50 m and 80 m. Find
the cost of cementing the ground at Rs.5/sq.m

(A) T 20,000 (B) ¥ 15,000

\(9/' £ 10,000 (D) 12,500

o deerwur_ HsdLer QsnCsaramr &Caremd el 2 drarg. CemCsramsmss STmiELD
ussmser 505, 805 FiLalle HQwearr us s67 BLL(1HEE 5.5 6550 @0 Qorss Qewameus srawr.
A)  .20,000 | B) @.15,000

©)  .10,000 : D) .12,500



59 .
73.  The diameter of a semicircular grass plot is 70 m. Find the cost of fencing the plot at ¥ 12
per metre.

(A) T 7700 - (B) ¥ 840

M z 2160 (D) % 4320

Siegeul L augeferar yoGeuafl gendlar el b 70 m. 250 sHH Coudd Simwés @ BLL &S
¥ 12 ez ereven Geeum@Lb.

(A) T 7700 : (B) 840

(C) ¥ 2160 (D) T 4320

173. If the circle with diameter 4 ¢m is inside of the circle with radius 10 em. Then the Maximum

possible distance between the centres is

A 6 (B)

N s ' . D) 9

-1

4 cm &L gewg Gsmeir eul_L b 10 cm yrapevLw il L gHlener 2 arar Cumg) @) MDWIRISEHEHE,
Qe Cw Q(mHés QuIID HHEULE GITD eTetTen?

(A) 6 B) 17
<€ 8 D) 9

61
174. What is the half of the area of the triangle whose vertices are (1,1),(3,1),(1,3)?

w( 1 (B) 2
©) 4 .

(D) 5

em w&Cesrangden waansear (1, 1), (3,1), (1, 3) erafléd @iger upliarelle uTSl sraws
A 1 B) 2
) 4 D) 5



62

54.

63
30.

64
31.

Area of the tnangle whose vertices (0, 0), (4, 0) (4, 6) is

(A) 24 sq. units  ¢- : _ Mﬂ 8q. units
(C) 48 sq. units o ‘ (D) 36 sq. units

(0, 0), (4, 0), (4, 6) erenmp yeratlsanaer 2 Flaenas QaramL p&Canemgdlen UyliLieTey
A) 245 s0E , . (B) 125 sw@ - -

(C_)' 48 & SVE ’ - D) 363 s

'Ithe area of d triangle whose vertices are O(0, 0), A(3,0), B(0, 2) is.

6 sq — (B) 2sq. Gnits
% 3 sq. units : D) 12 sq. units |
0(0, 0) A(3,0), B(0,2)- g&&eﬂsmrras& G smator._.. Qpas@&mvrgﬁm LIy
@A) brows . B) 2& 906
‘A de.sEE o M) 12 é.a@;@

The area of triangle whose vertmes are (1, 2) (=3, 4). and (-5, —6) is
(A) 11 sq. units - i ' (B) 15 sq. l_lmts

© 25sq. tmits : , - % 22 sq. units- .
(1, 2) 3, 4) wHmb 5, 6) c%eﬂu_leumsm p (panemsenTsd Aeran . psCaramsdlen Lyl

@) 1lls o ) B) 15 &. Sl
(C) 25& so@ D) 22& s



© 179. Area of the triangle whose vertices are (0, 0), (2, 0) and (0, 2)

(A) . iaq.uﬁits

Y @sésnwgﬁs& (],osmsﬂm (, 0), (2, 0) wpgid (0, 2) fr.é‘.ﬂ'd; Ssdn Uply Sans.
-(A) - i_g-,-.g 'q)@;e_h S : _
®B) 2&.@105‘(556; - o .

(O dsa@gser ..  -

) &Q.@m@eﬁﬁw _

175. A silver wire when bent in the form of a square encloses an area of 484 sqm. If the same

wire is bent in the form of a circle, then find the diameter of the circle. (use 7 = 2_2—)
7

(A) 14m | MZBm
D) 7m

(C) 24m

em Qauarafls s aumarsslLl B sgiywrs wrHML Curg. Vsame L uBDL uGgSHler Ly
484 5.18. =i8s Qauaraflls sbd@w el Lwrs umarssLBEDg erafld aulLgHer el b eremen?
(m= % &L smaTs)

(A) 148 (B) 288
(C) 248 D) 78



190.  Find the circum-centre of the triangle formed by the vertices (4, 2), (3, 3) and (2,2)
- (A)

®)

(©

4, 2), (3, 3) wHOD (2, 2) eren Leraflsamar o-sflsammas Qs (1 WP&CHTETES 6 &HM QUL

(0, 0)

4,3 .

G@LWID W) ?

@

®

L ©
D)

0,0

4.3) |
(3, 4)

3.2



83. . The circumcentre of the triangle with vertices at (0, 0), (0, 4) and (4, 0) is

@ @9 - ® 4 %)
e ® (%)

(0, 0), (0, 4) LHpid (4 0) gdw yerefisener (y:encmsms Glasrram_ @sGsnmgﬁar sHMeILL eowD
(Cu'cumcentre)

@ @y - ® W%
© @» ® % %)

70
188.

71
38.

Find the area of a parallelogram whose base is 9 cm and altitude is 5 cm
(A) © 40 cm? : (B) 50cm?

( 45 cm? (D) 55cm?

@ Qmemsrslen Silg. 2 wyb 9 cm, GSHWTD 5 cm erafle, QememsysHlen uﬁﬂucﬁm eTeumen?

(A 40cm? : : (B) 50 cm?

(C) 45cm?2 (D) 55cm?

Find the area of a parallelogram whose base and height are 9 em and 5 em respectively

\K 45 cm?

(B) 40em?
(C) 14 cm?
(D) 22.5cem?

SligUuéEsd 9 Qs wHmb 2 wnb 5 Qe.f arareyb e w Gaarsrsden LFLLETE STaRTS
(A) 45 5Qs.8

(B) 40s5Qs.5

(C) 14s5Qs.8

(D) 225sQs.8



72
189.

If the radius of a.circle is increased by 20%, then how much will its area be increased?

Q)  34% , . @(’ 44%

(@) B54% )% KR (D) 24%

em aulLgdlar yrd 20% fsfsgoramd HuCurg ums el Ghen um‘ilusrrm GralGuaETaY
2P &M&E0? / :
(A 384% (B) 44%

©) 54% : - : D) 24%

The radius and height of the cone are 7 em and 24 cm respectively. Find the surface area of
the cone (CSA)

(A) 505 cm? (B) 290 cm?2

(C) 360 cm? W 550 cm?

@@ sabller b 7 Qg.6, 2wy 24 Qe.18, erefle cuaneTuFliy S s.
(A) 505 Qs.82 (B) 290 Q.52
(C) 360 Qa.152 (D) 550 Qg..82

A cone of height 7 cm and base radius 3 cm is carved a from a rectangular block of wood

10 cm x 5 cm x 2 em. The percentage of wood wasted is
W 4% B) 46 %

C) 54% (D) 66 %

10 @& x 5 @E..LB.X 2 Qe.1b oeme) Qarar Qeaicus aigen wrlumsES®HBE 7 Qa8 o wrb
3 @e.8 @b Qarem by Qail iy a(Es QsLuiLGADE, cald, assmar s5eSED I oL
G EmTIT(ELD.

A  34% B) 46 %

© 54% D) 66%



75

10. Calculate the area of a sector whose radius and are length are 6 cm and 20 cm respectively.
(A) 90 cm? P#7 60 cm? |
“ (C). 80 cm? (D) 120 cm?

<7 6 Q&.18, efevellan Herid 20 Q.5 Qamawr(Berar cul L Camenrts L@ ufer LITienLs Srer.

(4) 90 Qa5 . (B) 60 Q&5
(C) 80 Qs.5° D) 120 Qs..5°
76
56. Find the perimeter of a sector whose radius and central angle are 18 cm and
210° respectively. ' .
(A) 120 cm (B) 110 em
W’ 102cm (D) 108 cm
<7id 18 @&.1b whHmb @wws Ceramd 210° eed Qarar eul L Camewrl LgHular snnereneus
SIS, , ‘ '
(A) 120 G&.ib (B) 110 Qs.5
(C) 102 Qs.8 (D) 108 Qs.8
77

140. The area of a sector of a circle of radius 21 cm is 231 cm?. Find its central angle.

@ 45°

|B) 30°
M 60°
D 120°

27ib 21 Q.18 Hmb uTtueTey 231 Qs.18° Qsram@erer el L Carans LEGHulen @wLWECsTETSMS

sneTs.
@)  45°
B) 30°
©)  60°

D) 120°
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33.  The length of the longest rod that can be placed in a room of dimensions 10 mx10 mx5m
18

@A) 15¥3m | \/15111
(©)  1042m | ©) 5/3m
| /
10 15 x 10 18 x 5 8 yemaeien g Siawpulld, eeuliLgHsman Qs Hib e Sflaul s Berd wrg?
@A) 15¥3 B | B) 15 Brii
(C)  10J2 Brid D) 543 B

%9 The ratio of the area of a square to that of the square drawn on its diagonal is
(A) 11 1:2
(C) 1:3 Dy 1:4

o spsden LILGHED, Sis@@LL ppawellLb afurs aeFuluBn smngfan LpLGpED

e ¢rer cllgwmeng
A 11 B 12
© 13 D) 14

0 .
8§. If the side of a square be increased by 4 cms, the area increases by 60 sq.cms. The side of the
square 1s

(A) 12 em (B) 13cm

(C) l14cm Wﬁ.;’) cm

G sgiTsflen ubed 4 Qs syPaflignd Corg sigen Lniuaey 60 5.0s.8 afsfedng crafle <iis
s flen LEs e eTenean?

(A) 12cm (B) 13cm

(C)  ldem (D) 5.5¢em

tﬁ. The cost of levelling a rectangular ground at Rs. 1.25 per sq.m is Rs. 900, If the length of the
ground is 30 m, then the width is

(A) 330m (B) 34m

W 24m (D) 18m

PO Usdiaus awgragas sgy Siusg ®. 125 dsn sN0aiw en Qewey @ 900 sk,
Seemograngdlan and 30 m aafid g6 srawsms s [ G,

{A)  330m (B) 3dm

(C) 24m (D) 18m
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43.

5

84

85

86
52,

Find the area of the smallest square that can be circumseribe a circle of area 154 cm?.

(Ay 169cm? (B) 121 cm?

(Cy 144 em® MIQG cm?

154 @s.5% uroueray e der i’ L &mg Asm_ () soM euenmuiu L egrsdar urltiuarencu samE Gy,
(A) 169 @i (B) 121 Qs
(C) 144 Qs.82 {D) 196 @s.52

What is the formula to find the area of rhombus?

@A) dxdy ® 2 xd;)
1 1
M Sldxds) @ {d xd,)

smisgrsSen uylueTey Srewr B Fab GSHTD cenen?
A)  dxd, ® 2 xd;)
©  ldxdy) ©) Hdxdy)

How many diagonals are thete in an nonagon?

(A) 36 el

(cy 18 Dy 2o

@ paCanarsd o a5smer apauallll L RIsmar dTren?
Ay 86 By 27

€y 18 (D) 20

If the cost of fencing a circular path at the rate of ¥ 5 per metre is ¥ 1100, then the radius of
the park is

35m (B) Tm
(C) 55m (D) 1lm

om L aigeal yasralpg Ceusdl Cum gm Sl mém T 5 Ssb m. 1100 guEb eafle, Lhsrelen
<D ST

(A) 3548 B) 78

(C) 5548 M) 11.8

Find the cost of carpeting a room 13m long and 9m wide with a carpet 75 em broad at Rs, 8
per meter

(A) Rs. 1240 (B) Rs. 4248
Rs. 1248 (D) Rs. 156

75 Q5 B osan Asrav ser clfodGen sfienad SLmas 8 mumd eafld, 13 Broi fomd 9 Sloq
ysab Qaran_ GF senp apegaugid Sibs seny llifiiienu enwds @b Aowa creren?

(A)  Rs. 1240 (B) Rs. 4248

(C) Rs. 1248 (D) Rs. 156
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129.  Find the area of the iron sheet required to prepare a cone 24 cm high with base radius 7 cm

\’m/ 704 cm? (B) 702 cm?

(C) 700 cm? _ (D) 668 cm?

24 Q.18 2. wrapd DguUES 7D 7 Gs.8. AararL sy swrilés Comanwrear @by S 1.6 LT

SRS
(A) 704 Q.52 (B) 702 Qg.52
(C) 700 Q&.152 (D) 668 Qs.52

96
179. Avrea of a square is % hectare. The diagonal of the square is

(A) . 250 metres

/ 100 metres

(C) 504/2 metres

(D) 50 metres

P eSSl LlLeTey % ga&ai, aafled sgirsdear papaneedl_L b S GLD.
(A) 250 S
(B) 100 Sl

(C) 502 Br i
(D) 50 8cd






00 :
’7]3. ‘ijarea of the largest triangle that can be inscribed in a semi-circle of radius 4 cm is
A)

16 cm? (B) 32cm?2
(C) 64cm: (D) 128 cm?
4 Q&. By <yrorss Qamem Sl@railL e 26T yewHS BsrGLAw W &CaTem s e
ugliueTey
(A) 16 gl Qa8 - (B) 32sg5Qs.iS
(O 64sg Qs.8 (D) 128 sgr Qs.18

10
27. Area of a triangular garden is 800 sq.m. The height of the gareden is 40 m. Find the base

length of the garden.

(A) 20m \Kmm

() 10m (D) 50m

@m piCoram augasdaydrer Camsdar Lpiuerey 800m®. oeupdlen 2 wyb 40 m eefled

25CHTL Sl 2ilg. 2 WD wng?

A 20m (B) 40m
) 10m (D) 50m
102 : ; a :
928." Calculate the area of the quadrilateral whose length is 20 cm and perpendicular distance to

the diagonal from opposite vertices bé 7 cm and 10 cm

(A) 160 cm? (B) 110 cm?

(C) 100 em? . W 170 cm?

@m srosrsder ford 20 Qeib, et QerEsgs ewnd 7 Ged-b wppd 10 Qsb-b PmpsTed
Sjaummler LFlLETe| STers. |

(A) 160 cm? (B) 110 cm?

(©) 100 cm? D) 170 em?



103
29. © A room is 5 meters long and 3 metres wide. The area of its four walls is 88 sq. metres. The

height of the room is
(A) 6.5 B) 75

\/ 5.5 (D) 8.5

om s@piar fard 5 m, osab 3 m, Sapda prH sersafler ugluerey 88 m? eeafle,

Sjaseiennuilen o Wiy Srers

(A) 65 ®) 7.5
(C) 55 (D) 8.5
104 _
41.  The perimeter and the area of a semicircle of radius 14 cm is
(A) 36;308 M 72 ; 308
(C) 308;36 (D) 308;72

14 Qa8 gypeperer seny eul L gdlan apmerey O LFiLeTe| (pepnGu
(A) 36;308 B) 72;308
(C) 308;36 (D) 308;72



.

The perimeter and the area of a semicircle of radius 14 cm is

(A)  36;308 W 72 ; 308

(©) 308;36 (D) 308 ;72

14 Q&8 gyrapater iy eul L gdlenm ammare| wHmitd Lrliuerey penGw
(A) 36; 308 (B) 72;308
(C) 308:36 (D) 308;72

The area of a circular field is 13.86 hectares. The cost of fencing it at the rate of 20 paise per

metre is
(A)  Rs.277.20 \/ Rs. 264
(C) Rs. 324 (D) Rs. 198

P L augeu deuafiuflar urtiuerey 13.86 géai. arafle), e BLL s 20 ewust efsid diens spi
Cauall-GurL @b ellaa

(A)  em.277.20 B) . 264

©) w324 D) e, 198

One side of a rhombus is 10 cms and one of its diagonals is 12 cms. The area of the rhombus

18

(A) 120.sq.c.m %96. Sq. c.m

(C) 80.sq.c.m (D) 60.sq.c.m

P BIHEsITESe b ussDd 10 Qe wHYID SF@IOLW @ apeeei b 12 Q.8 s1i s5 7586
UTUILETe| ——————— @D

(A) 120 Q.8 (B) 96 Qs.5°

(©)  80QeS . (D) 60 Qs.8



187

114.

The ratio of the area of a square of side ‘a’ and equilateral triangle of side ‘a’ is

Ay 21 B) 2:43

©) 4:3 ‘)(4:‘/5

a’ udsd derer @ sgingdlen urlueTe WHML ‘A’ LGSED Qaram  souUss WP&CaTarsSer

uyuuere)-saflem e9dlgD —————— @b
A 21 B) 2:43
€ 4:3 . (D) 4:43

A rectangular tank contains 2340 cu.m of water. What is the depth of water in tank if it is

15 metres long and 13 metre wide

(A) 10m (B) 15m

(C) 8m w 12 m

@ decseuss Gamiguiler 2340 m?* satey sawant 2 ereang). 25T uier Ferd 15 m, SisaLb
13 m areflen, <o1b erean?

@) 10m (B) 15m

(C) 8m (D) 12m

Find the radius of a sector whose arc length and area are 27.5 cm and 618.75 c¢m?

respectively

(A) 35cm - (B) 25cm

\M 45 cm (D) 55cm.

efldellan Fearib 27.5 Qs.18, Liuatay 618. 75.8.04.5 Qarar L& Gamawrls L@S WG ,Tid Sme.

(A) 35Qs.18 (B) 25Q&.8
(C) 45Qs.8 | . (D) 55Qs8



10
%. How many diagonals are there in a polygon of 15 sides?
a) 30 (B) 170

© 120 & 90

15 vastiser Qsram_ Le CaramsHnE assmen ppaaeil L kiser 2_drare?

A 30 (B) 70

© 120 . | D) 90

3.11 The sides of the triangle are in the ratio 3 : 4 : 5. The measure of the lérgest angle of the
triangle is _
@ 60 G 75
© 120° (D) 150°
om wiCatangder usshsar 3:4:5 e fgsdd ety aafld g BauGufv
G&nmﬁ@s&t D6y Wrgl? .
(a4) 60° (B) . 75°
o . g - (D) 150°

54.  Caleulate the perimeter of a quadrant of a circle of radius 21 cm.

(A) 65cm ‘ y75 cm

(C) 44em (D) 88cm
21 Q&5 gyraperer sroeul L1 LuGHuler shpate, ameir

(A) 65Q@s.5 (B) 75Qs.5
(C) 44Qsi5 (D) 88Qs.5

13 ' :
%- Base area of right circular cylinder is 80 cm?. If the height is 5 cm then the volume is

@ 400 cm® (B) 16cm®

(C) 200 cm® D) %cm?’

@@ Chrau L o_@mamSlar Siiquss urll 80 & QalS. ige 9_u.:m.o 5 Geuﬁ erafled igerm sem DjeTey

(A) 400Qes. 15 (B) 16Qs. LB

©)  200@s8 D) %’0 Q5.8
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76. Find the total area of 14 squares whose sides are 11 ¢cm, 12 ¢m,.....24 cm.
(A) 4415 sq.cm. (B) 4055 sq.cm.
(C) 4155 sq.cm. W 4515 sq.cm.
;:ﬁ::@, 12 @s.5,.....24 Q5.8 gyAweupen Lsshsams Qarar. 14 sgyhsaficn Qurgs Lriy
(A) 4415 5.Qs.8. (B) 4055 5.04s.15.
(C) 4155sQs.5. (D) 4515 5.Qs.5.

dZ1i5 Area of a triangle is

(A) base x height \ﬂ( -I?:x base x height
1 ;
(C) 2 x base x height (D) = (base + height)
p&GaramgHlen LFLILIETEY
1 G, ML :
(A)  SglU&ESD X 2 WD (B) - X g LIUSSHD X 2. WD
1 Bt :
(C) 2 x BglI&sid X 2 Wifid (D) g (Sig LGS + 2 Wiyb)

116 ; :
93,  From the solid cube having side of 20 cm, how many number of small cubes having side 5 cm

can be formed?
@A) 46 o

(C) 56 (D) 48

00 Qad LiEs siatey Qaner AL sar s5IT 2 MmeusHS®bS, Ths®en 5 Qs.15 LI&s SleTey Qaram_ £m
S san sHITRG®ET 2 (HANGSQMD? !

(A) 46 (B) 64
(C) 56 (D) 48
117 . - = : »
Find the area of a semi circle of radius 28 em.
(A) 144 cm? B) 1220 cm?

- (©)  238cm? ' G 1232 cm?

<2 28 Q&.5. 2 et w ieny QUL Slam LILILIeTa,y &Tew.
(A) 144 5.Qs.b. (B) 1220 &.Q#.15.

(©) 23850818, - D) 1232 5058,
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59.

A 4 cm. cube is cut into 1 cm. cubes. The total surface area of all the small cube is

(A) 96cm? 7 (B) 24 cm?

\K 384 cm? (D) 284 cm?

119
38.

120
41.

4 Qo8 2w sa1 sgimorang 1 Qa8 2o w Al sen sgITRIGTS Qaul L iu@dpg) erefler HBlw

sen egiymsafien Qongs Ly wrg?
(A) 96 Qs.5? (B) 24 Qs.f2

(C) 384 Qs.5? (D) 284 Gs.152

In an equilateral triangle whose side is 343 cm, the length of its altitude is

M 4.5 cm (B) 5.5cm

(C) 10.3cm (D) 9.6cm

@@ UGS PpECaTanSHe LsS SjeT6 33 Qs.18 craflér oizen GHFIITSS 6 2jen6] GTETLIS)
(A) 4.5Qs.8 (B) 5.5 Q8.8

(C) 10.3 @s.8 (D) 9.6 Qs.18

A hemisphere and a cone have equal bases. If their heights are also equal, than the ratio of
their curved surfaces will be

A) 1:2
By . 21
€ 1:42

\M v2:1

20 SeorEGararap, sabyb @G g liILsssms QatarBerarar. saubblen 2 wyapl swb erafld
2eupdler euanerugiiGen eNfsb eremer?

A 12
B8 21
© 1: V2

M) J2:1



1?@.1 Two spheres of radii r; and r, em are joined by a thin wire and a total charge ¢ is given to

1

them.

(A)

4

122"
06.

(©)

D)

If g, and g, be their individual charges. then

G =aq
LB Y
Q2 5
a_n
49 i
n I

g =-+and g =—=
q q

weopCu n wime r, Qe yrdad Qerar. Qrar® Cerarmsdr gm Quaxiiu sbdwurd
Gaanss iUl B seupilipe Qurss Werggn Lo g s0LLEADS!, q;, g.eranian apapCGus Sieubhiies

seflis WBerenn 1 fisermSen
A g,=q,
® d._]
Qs N
© 4.5
9 h
D g =2 wppid gy ==
1 2 Do g a

If the dia.m'eltéf Qﬁd' height of a. right circular cone are respectively 12 cm and 8.cm. Then its

slant height is

S woem B 20em

.

e . (D 9%cm

Gpit euLL & sabiGlén eAIL 1D wHpiD 2 Wb apepGu 12 Qs.8 wppd 8 Qa5 sr@f;ﬂa'a i Erru.lquj::..

erenug

@

©

IG_QJ.LB, B _ .(B):-Emas'lﬁ-..
30Qe8 D 96Gsis



110?73 The penmeter ofa rectangle havmg area equal to 144 (cm)? and udes in the ratio 4:9 is
‘-W 52 cm a o (®) 56cm |
© 60em | . (D) 6d4cm
@m Qsdaussden 'u;In.'Jq- 144 (Qs.8)’ erafler Sis@eLw LEsRSET 4:9-. crenp cH&gsHd
_ @@é@mumd) SIS@IPL I SDDATR TEUAIGTE? | ' S

(A) ' 52@&.‘6 . B - ‘(B) 56 Qs.b

©)  60Ges @ 64Ge8 -
124

110 The arc length of a sector is 66 cm and the central angle is 30° Fmd the Radius SR

| A)  166cm. | . (B) 140 cm. |
(©) 122 cm. | | .ﬁ)’ 126cm. e e
A ;Bmu: 66 cm wHmbd mmma(ﬁsrrmm 30° QameRi_ el L& G‘»&nmu u@@uﬂ}m <DTLD EewT.
A 166 Gs.. | ~(B) 140Gs.5.
© 122Qs.8 - (D) 126 Qs.i5.

125

Y Area of circlé is equal to the area of a rectangle having perimeter of 50 cm and the length is
more than its breadth by 3 cm. What is the diameter of the circle? o

(A) T7cm. ' - (B) 2lcm

© 28cm ¢ & ldem

@1 eul_L_Gdlem i, Gmm@s&r &DpeTajid aﬁ:—wrra; I&rai‘rmgj. Siemal 50 Q&.LS. Qeaicusglen emd
sisasmg L 3 Az.8. iflewns o drarg), crafled el FHldm el ib ereucuenay?

B)  7Qs8. | - (B) 21Ge.sb.

© 28Qsd. (D). 14Qs.8.
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R

s | B
< 2 ‘

The perimeter of a equ_ﬂateral triangle is 18 em. Then the height of the equilateral triangle -
is . . _ ,

(A 3cem | : (B) 3cm

© 2Bem N© NG

61 FLOLIGS @ei;@asrrmrggsirr aHmera) 18 cm erafle DFFOLIES, (WECsTanTS Sl 6 o Wiy

(A). 3em o (B) Jg_cm_
(C) ZJS— cm . | (D) SJS_ cm

¥

A ﬁeld is in the form of a rhombus. The diagonals of the flelds are 100 m and 180 m. Find

the cost of levelling it at the rate of Rs. 3 per sq.m.

(A) 25,000 Rs:- . B _ 27,000 Rs.

(C)" 29,000 Rs. o D) 2,70,000 Rs.

R suu_lsurraﬂ@ FTLEST aligeiled 2 ararg. aiwielen q,ommsﬁh_,l_ 2jereyser 100 5, 180 5 éqlmﬁ

QUWIEnEEF ELoGTlFIILI S5 LE'J_l_@.s@ .3 aﬁ;_r)m 2@ dewamen sreirs.
(A) 25,000 . ' B)  27;000 e.

(C) 29,000 @ (D) 270,000 g -

If a cube which is pamted whlte top and red other 5 mdes 18 cut into 64 Identmal small cubes

using cuts parallel to the sides, how many of the smaller cubes have all theur sides
unpainted?

O 1

@ sasgrsdar Guod LEsD Glaumsmm suran@LD wHm 5 ussmsaT Heily  eufeTaoLD -
ysiul [Herears. @s 64 Cr rdflwmer ser sgiymsaTs gar® Cur_Lu@Ang. ser® Cum.

- Qeul_@ser sarsgysddn USRS EHEE Qaearuns, ammélmmm Qs AP sasgrtisais aisamar,

TG LISSPLD G TemTLd IE},EUIJI_H“&“;GEJEHJ?

@ 8 L S ® 4

© 2 S oD
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50.

_ E}&g If a cube which i is pamted white on top and red on other 5 sides is cut into 27 identical

small cubes, how many of the sma]ler cubes have just one slde painted -red and nther sides

unpainted? ) o s
@ 9 - | | \.ﬂi( 5

© . 3 o (D) 1o

R Se FEHITOTETS) @Gy wrdflwrer 27 gm&@q@smm gjmrr@ CurLTLEApg. wsdld BHDHS

genggrd Gooymb @eudrensmumaeyd hm 5 uEshisdr Aaiursa|b euiennd eIy Ghogl. Sblu -

sar sghseia aisma gCr g@ LEsD Huliursad LOHD LEshsEr aiad LFIULTogID
goierr

@ 9 : . ® 5
(0 R o O 1

A wooden box of 2 cm thickness has inner measurements 6 cm long 2 cm breath and 1 cm
height. The volume of the wood in the box is -

(A)  96cm? - _
(B): 64cm® . : T

W 288 cm?

(D) 300emd . .. 7 -

2 &b qurm%‘trr Gl g e o6t are) 6 Qsif Bordb 2 @&.18 o@en whpbd I e 2w o drar

. oAU ule) wrSHEr sa SaTauTens)

(A)  96s. Qaab
(B) 645 Qs
(C). 288a. Qs.8
(D) 300 & Qs.15
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132 : - | . . o .
~ An iron right circular cone of diameter 8 cm-and height 12 cm is melted and recast into

55.

11153!%3

A patlent ina hosplta] is given soup daily in a eylindrical bowl of diameter 7 cm. If the bowl

ig fille@ with fruit juice to a height of 4 cm, then find the quant;ty of fruit juice te be -

prepared daily in the huspltal to serve 250 patients.

(A}  37.5litres . : 0{ 38.5 litres
(C)  89.5 litres ' - o 40511tres

TG m@ggmmmmuﬂlm 2 e G,I,rru_lrra‘ﬂ P(REU(HHE, ﬁm@pm 7 Qe.8 A (pETeT 2. [HeneT GUiqay

AememsHe ey eupisliuBEDg. ursfrsde 4 Qs 2 LISHHE LS R0
Crmumrefl&s ﬂJIEplE.IdliL..IIJL..I_I'I'QJ 250 Gprru:n‘crﬂs;@a;@ sug;.rmag Ggepeuwiman ul‘,p&&rrmlﬁlm 560 BjATEy

HEHEWTE . . I ) )
(A ITE&LT . (B) 385aLf

Q) 3956 | (D) 405k

spherical lead shots each of radius 4 mm. How many lead shots can be made?

@& 75 | S @ 150

(C) 7500 o D) 480

8 QELBIGJS\I;I_@DL;) 12 Q=18 e wpaplh AsTaTL G G‘I'_F)I:I"GLII'_L__ ,ﬂaﬂrm-@@tﬁq&: saibuneng) 2 (hé&sILL B
4 8.8 sygaperer Heiwios Gamer e GRIHSNTS QMIESILLL 1D S@LsGd Garar ayes
- @ean@Gaefian ramenlsons ereueueray? ' '

@ 7 - - B 750

(©) 7500 . M) 480

- Radius of a eylinder is increased by 10% then percentage increase in its volumae is

@ 20% _- S B) 15%

w© 1% P %,

@it g@a)muﬁlm < 10% 2 wirgsliuBin Guing i sarsyereile qﬂ')ul@fn e wirsllean s&aigiD wrg?
@) 20% | B (B) 15% - -
©) 10% e D) 21%
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160.

13 5
164.

Three coins each 2 c¢min dIameter are placed touching one another Find the area- enclmed
by them (z =1. 732) {Approximately three decimal places) -

W 016lcm? . B 0.151 cm?

(©)  0.171 cm? ' (D) 0.181 cm?

2 Qed efllLqpeier epeny PUEILBISE GeeaD ey Ggrr@mrrg; Q&I L LTeD amﬁam h
SeL LB u@ﬁuﬁlw uplienug sneirs. (7 =1.732) (GEmymunns apengy S50 @l_rs.ra;m,ﬁmmns] '
(A) 0.16lcm? . (B) 0.151 cm?
(©  Cl7lcm? - (D) 0.181 ¢m?

-

A gardener plans to construct a trapez-:ndal shaped structure in his garden. The.longer side
of side of trapezoid needs to start with a row of 100 bricks. Each row must be decreased by

_ 1 bricks on each end and the construction should stop at 25% row. ‘How many bricks does he

needbobuy" o . .
1500 : . B 1700
y 1900 . - | . D) 2000

B G§II1_I_MI'I'IJ‘I'I‘ sflaus ageld seuir @m,r_ﬁlmm DIGPHOGE ﬁl_l_Lﬁ’I@@mmr &rﬂsu&gsﬁm e apse
- cufienssg 100 Gomtiapaer ComaiuPBpg. ey @m@surr@ aflosder Gmypapd 1 Ashsd

EdpaITs meuss Gelem(ih. aa.nmq.mmmuﬁm 25 auflessefipldlen sieui eurmis . Gmarmq.m

L -Qé‘iﬁl&[ﬂﬂiﬁ‘lﬂﬂﬂ asaafisames arggeamen?

136
171,

(A} 1500 - | | (B) 1700 |
(© 1900 | . (D) 2000

The radii of two right circular cylinders are in the ratio of 3: 2 and theu' helghts are m the
ratio 5 : 3. Find the ratio of their curved Burface areas.

*

M 5:2 . - B 2:5
© 3:2 - o

M) 5:3

.qavr@ CrraL. L@mmasaﬂm ‘%grr&uﬁmﬂﬁw iflgn 3:2. erens. Guogib seubdler, e..u.m‘m«ﬂsm
cﬂé‘lgm 5:3 ereficy g;sugm'ﬂm mmmuu‘uqa;aﬁm aﬂﬁ,sw TG 5. L
@ 5:2 - ' - (B) 2:5
© 3:2 - D) 5:3
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149.  The radii of two right circular cylinders are in the ratio 4:3 and their heights are in the ratio
7:4 then the ratio of their curved surface areas ig in the ratio

(A) 3:5 | (B) 5:3

© 39:7 - N 73

Srer® Coreul L e renarsafics c%qmscfﬁm Az 4 : 3 Coaubd &mm;ﬂm 2 W Taigarl 6 Gﬁ]ﬁlﬁ.m
7 : 4 erafld eupien arameruriiysafcn a8 gD

(A 3:5 By 5:3

(Cy 3:7 D 7:3

§£8 The radii of two cjr]jnder"s are in-the ratio-3 : 5 and their heights are in the ratio 2 : 3. Find . .

the ratio of their curved surface area
M 2:5 " (B) 5:2
2:3 | D) 3:2
' @@ 2 (memermusler -%&I‘I‘EJEG?TI@GEJQ}@UJ 315 eranm eflflsE aub Scupdlan 2 wirkiser apapGu 2 : 3 erarm
Afprisenel mridien el aeneariiglisatiar el &l eraiman? :
@ 2:5 . C® sz
© 2:8 D) 3:2
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173. A rubber ball is dmpped from a he1ght of 25 m, whxch stnkes the ground and rebaunds

everytlmea to the half of the height from where 1t falls down. What is the total distance
travelled by the ball to come to the rest pomtmx_}. Co :

¥ 75m

B) 176m
(Cy '125m
(D) 150m

25 1B p_u_n;rﬁﬂsﬁ\@w GuaL Dol L e @uuurr UIb&IT e @w@wn@ @Eﬂmuqm pepuiled Gorduw
- A, Hpns au_n}'gﬁm ol aerreﬁlgn@ er@:pwqélpgj erafied, guiay Slanasg m@m(ﬁur@ 2hs UHGI

Geem Hiomgg FIW eTeueuana,?

A4 7BS

®) 1758 ﬁ
(© 1258

140 " The rachus of solid sphere and solid hemlsphere is same. Then the ratio of curved surface

area of solid sphere, total surface area of the solid hemisphere and _curved surface area of

solid hemisphere is

W 4:3:2 R . E ' -

®) 4:2:1
©) . 3:2:1

@) 2:1:1

G5 ayrapen_w Harn GarergsHer QLDlIréfEIILIUIJ'I;ILI} (mmﬁuu}, Heorwo oeyiEGarersdan Qiongs
LpLILTUL wHnh Sens oiersGarargdern aemeTu TLILSEnEE 2.a1ar ol £gib '

T

(A) 4:3:2
@B 4:2:1
© 8:2:1

M) 2:1:1



B

F1nd the length of t:he 10nge5t pole that cdn be placed m a.room’ 12 m long, B m ehroad and |
9 thh : : . : : -

@ _15m G e C B, mm'-'

(C) _-_I_Bin_'_-'_ o - -‘-.- . -

g .12 8 fﬁ,mm 8 LBE_I_IT &ewm 9 LEL.L_rr &mu@mm 9@, cg;m,r_r)uﬁlw GBEILLE amq_u.; Lﬁla; 5eunrren

¥

&mugﬁmﬁmwmm& e < S L O

«. E (A) 15L8 h" _. . .‘. - . '., -' . ._.)‘I (—B) 1615‘ ]

1472

©.31.

LL

.'The dlﬁerence between two para]lel s1des of a, trapemum «-1e 4 cm The perpend.lcu]ar. |
' d.letanee between them is 19 em. If i:he area ef the trapezmm is 475 cm? ﬁnd the length ef B

the parallel sidés. ~ =~ - . : N
N Yem 28em T L "_{B)'.--ze'ém, 2em o o
(O, 26cm 24cm ~ . - . -7 (D) 25cm,26cm’ _

&

o ' S, wﬁeﬁmgﬂﬂr @mm uumeaﬂm Gmggun@ 4 GleLB &meue@s&lml_@mmrrm ¢I;I.5Frr.:@,§5,5 éﬂl}‘l-b:,__
- 19Gsi5. Wﬁﬂ“—'ﬁﬁﬂ' Ly 475 Q. 8" erarle; oy Qewnusstisaier ﬁmrme;mma; siieins; o

L (A) 27Qeab, 23@&15 SR - (B) 28Qss, 52 Go.b -
(0. _zsea.ts.zm&.e L (D) 25,15, zscam

79,

. ' u T
* L . A R
. ' . "
. A ) N o oem T,
R . - a
. . f
.

‘ When a bal] beunces 11: rises. to 1— of the he1ght frem Wh.lCh 1t fe]l If the ba]l 1e"dropped

from - he1ght of 32 m, how hlgh wﬂl it rise at the thu'd beunee"

' "_'.(A);,' Bm i \J!f' 134 m

© 14i8. _ oy s

©. 14%'111' S o)

Lo

o ' . ; . 3 . |
20, '-'1551 ﬁﬂﬁ'—”'—' ‘3’(}9'-‘"-!”3I G'—'"@@ Sig) Gﬁ@m &U-"fﬁﬂ'rﬁu Gufre} n mi_rmg Gr@mqé]gygl @@ u‘@@ .
32 e_u.lr,rﬁéla'ﬂ@mg; (St_rrn_l_lul_l_lrm (g)mg)rrm @W!D é@ ﬁ@ml’-{w Gurrg] - Lwllg.ﬁe:"'_ =

Gngqun‘? S - . L

e

SRCVI - I A T .‘_'(B):‘l'o‘_%Lﬁ. -



' 18%4 Water flows into a tank w1th a baSe 200 m x 150 m through a rectangular pipe -
1.5mx L. 25m at the rate ot' 20 kmph In what time 1n (mlnutes) wull the water rise hy 2.

-metres" . | o
@) 93m1n L o - '(B)~ 95 min. -

w Qﬁ_mm._' ‘(D) 94 min.

200 8 x 150 & a&mmm Sl UUrED Qamem. S samadi QAsmigsEar gm 1.5 8 x 1. 25 8
- ereyenLw docueuss @pmidar afluing werflég 20 .5 Coumsdley g,amm?rr Llrru_ieﬁ'i;ggg ThS
- Grrsdea g;rsmrrm’r’rr2 B &u_lrjgﬁr,n@ Bhpbud (Fublggle)? :

. (Ay 93 : C o @) 95
(© 9% | - o Dy 94 -
145 |
115, Total surface area ‘of solid hemlsphere 18 6‘75 T sq cm. Then curved Surface area of the
sohd hemlsphere is. ' '
(A) 225:rsqcm-'._.."'_'-' - ,_  '
\_GB)"" 450 7 sqcm
(C) 450 sq cm :
(D)-' 2~25'sq: cml'
o _9@ ,ﬁsmn amu&@sumg_aﬁm@mrrg,g |_|gm_||J|_||_| 675 7 & Qs. Lﬁsrsa’ilm qmgw mmamr,ruq
'(A) 225 7 & GI&LE o
(B)f 4501?&@&1.5 o ‘
.'.(C) 450&@&6 - . ‘_ e

- v o Cot
s n AV ans - M ke
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122. A circle and a sphere are of same radius. What is the ratio of the area of the circle to the -
surface area of the sphere? '

A 1:1 - ® 1:2

\;zf 1:4 - '(_D)-l:S.

R0 UL Gararapd &1 .%m.n 2 ameTenaLl. euu_g,glm LpOLEELD G&;rrmg,g,]m qmuun’uqa‘;@w

ameﬁa%lﬁmsreﬂm? |
N7\REE TS L ® 1:2
© 14 @ 1:3

147 -
165. What is the difference between the total surfaee area and the lateral surface area of a sohd
- cylinder of radius "r” and helght “h” '

\M2ﬁfg -' - B

© 22r%h - D). 27rh

b | =
"

T

@Gu 2 WP (h) 2Tepd (r) Qeme 6 G}asl_Lq. 2 (Henerudlen err,sg UIUUSGED U muuuuqs;g,m

2 airen Caumyuin(p) ereimen?

ar

0o | =
[~

@ 2t " ®

© 22k .. - @™ 2xrh

14K



166.  What is the area of a Trapezium whose parallel sides are x and x% and height is 2x ?
sz (1+x) sq. units - '

(B) x+x sq. units

(C) % (1+J§) sq. units |

(D) %(x2 +x) 5q. units |

@ereatILESEISET X BHHID X Terayd 2 LD 2x erenayib o arer afleussSlen Ly erénan?

A 2 (1+x) 5 S0E

B x+x s oG
e 1.14 T . ’ R foa

1]71] The length of a rectangle is 2 cm greater than the breadth If the area of the rectangle is
80 cm?. What are the length and breadth? ’ :

N 10cm, 8em o ) |

® ' 8cm 6om . - o
,‘(C) "Gcm,dcm _

®) 12em, 10cm )

Q@ Qevausgilen SeTid DB SIBREDS sﬁlt_ 2 Gl& 5 siflsid. Q&mwaﬁém ur,ruq 80 Qa8 Graﬂsu ‘
_ agﬂr Ber DISQESET LTEDEU? .

A)  10Q@s.5, 8Qs.8 |
(B 8Gs.5,6Gs5 " | C

©) 60Qsi5 4 Qe

D) 12Q@s.5 10Qs.8



150 '
46. The area of a circular field 1s 138600 m?2 Find the cost of fencing it at the rate of

Rs. 4.40 per metre.

(A) Rs. 5800 : \ﬂ( Rs. 5808

(C) Rs. 4808 (D) Rs. 6808

@@ euLwrer awder ugluersy 138600 smmbli@mée @ 440 oisn, e Gaed
Sem_Liughanet dawea) srars.

(A) @ 5800 (B) . 5808
(C) . 4808 @) . 6808

%ﬁl The ratio of circumference to the diameter of a circles is approximately
(A 8:11 (By 11:8

© 722 w7 227

@ el gdlen shmened jb.@lh 24567 AL EH D@D e drar afdlgib (Camymuons)
&) 8711 (B 11:8
(C)y 7:22 B o 22:7
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If the length of 2 rectangle is doubled and the breadth is tnpled then which of the following
is true? :

(A) Perimeter is multiplied hy b

(B) Perimeter is multiplied by % |

) Area is multiplied by —

Jv)’ Area is multiplied by 6

p®m Geieusgler fagens Qo LASTEQD Ss@Ems apéi  DLRSTSQD .,%a;.ﬁanrrm

- Epserr_cupger erg #M?

153
| 152.

(A)  sppare) S wL_ThsTED F
B) spperey % DL IETGLD

i 5 ]
(C) uvrouerey 3 LDL_TRI& M@ LD

(D)  urouerey 6 LpL.lﬁJﬁﬁ@ib - .

W'h;lch of the foﬂﬂwmg is not the area. of trlangle ABC?
(A) -Eab sin ¢ - o ®) —bh
©  ae-a)e-His-0) N Zdly by

ﬁmm@mmm& ey ABC gpaCanamsfien urinéssrer Gadlod side?

| 1, . o 1

, Js(s;a_)(s-b}(s—c) - D) %d(?& +hy) |
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157. A man wasts to stitch a cover for a cp.u Whose length, breadth and he:ght are 25 cm,

40 cm and 45 cm respectively. Find t.he amount he has to pay if it custg Rs. 40 per sq m

S Rs.27.40 o ~ (B) Rs.2670
“(C) Re.2260 = (D) Rs.25.30

Gaseuit femd, Sisetd wHID 2 wib apenpCui 25 @si8, 40 Qaid, 45 Q&8 amnmi_u SO c.p.u, BHE
cap apks eﬁ'l(r_r,mqamrrfr 2 anpullen a!i\m 1 “5'—'--@5@ m. 40 srdiw m@ﬁ@ sTeLaUETEY

Qsaaun@w? - | :
A m.27.40 B ® ©2 670 :
© me2s0 D) 2530
155 | . |
'163. The length of the arc of a sector having central angle 90° a.nd radius 7 em s

N o 1lem (D 3Bem

QUL mmmg.ﬁlm BTRGD Garamid 90° e gy mb 7 Qo e, eur' 1 aﬁlmﬂdl femd

(A)  22Qsab L (B) 44 Qa5 -
(C) 11Ga8 - - (D) 33Qs8
156 ' '
34. Calculate the radius of a sector whose area and arc length are Gﬂcm3 and 20 cm
respectively ' ) o ' : '
(A) 3em - _ Jﬁcm_ .
(C) 4em | o : D) 5cm

o) L &Camreanm’ u@,ﬁuilar Lyl 60 Qs.8°. sigen élmcﬂarr .IEGITLD 20 G&.18. erafilcd 1D EETS.
(A 3Qsib. . e . (B) 6Gsis. '
(C) 4Q@s.8 | ' o (D) 5Qs.8.
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84.

- 159°

37,

A cone, a heinis;:here and cylinder have equal bases. If the heights of the cone and the

cyllmder are equal and equal to their common radius, then find the ratio of their respective
volumes.

(A) 1:3:2 ' (B) 3:2:1

w_1:2:3 | | .(ﬁ) 3:1:2

H

-

R MmbY, @O Si@TECETND WHMD G5 2 mever HHuan s BigLIUTGGmas Csrer@ararar.
~sabllen e wpd, o meemler 2wpsHpE sowrseyd, Cugid Qeaeunnd swpdld rESbE
. SIS GBS @pmm(}."m B bapendier sem <D BT6L (M5, @ _Cu o erer aflfgb wirg?

4) 1:3:2 : | @ 3:2:1

- © 1 2 3 | ' - D 8:1:2

A rectangular courtyard 3.78 metres long and 5.25 metres wide is to be paved exactly with
square tiles, all of the same size. What is the largest size of the tile which could be used for

the purpose? . | '
{A) 14 cms \ @/21 cms

{C) 42cms | o (D None of these

3.78 S Lfraer Barapid 5.25 8 am@l.b 2 e g;,)(r_g. Gyermd Cr emeysran siilwimer P O EeneTsE
Qeramr® uriiu CeusgrB. ap@mn&sﬁﬁmam e-uGursiin @ﬁﬁmq.ll.l @Ligen Lﬂmﬁlur'ﬂu_!
SNETEY eTeTe P :

(A) 14Qs.8 | ' (B} _21@&.1.8 _
(C)y 42Qs8 - D @maaﬁég@mlﬂ@mmr

A sector of 120°, cut out from a circle, has an area of 9%— gq.cm. Find the radius of the circle

A lem ® 2cm

© 4em . & sem

P an.ﬁﬁaﬁ@;hgl Geul iy dwupssiu 120° ﬂ..drm"@@ aJLL&s o, anﬁu Q#.B. ugLueTay
2 e g el L SHen YrENFE SIS, - |

&) 10848 ®) 2058

(© 4Gs8 | D) 3Qss
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38. A lawn ie in the form of a rectangle having its sides in the ratio 2:3. The area of the lawn is

% hectares. Find the length of the lawn.

(A) 40m - (B) ‘33_%1:.

W 5om | @ 4m S

g yoQsuall eowgnand oipen ubstisar 2:3 Gﬂﬁﬁﬁﬂw e et e Qecuaus cuneller e aTangl. MEHS
 enwgnenggler LU % QanabLi sraflé, sipen Bergensd srars.

(A) 4048 : B) 33% &
(C) 508 ' (D) 4548
161 | .
103, The area of a semi-circle of radius 7 c.m. is T AT .
(Aj -7 em? | | |
@®) 777 cm? ‘ | - -
W 71 em? | o
@Dy 7777 cmé |
795.6. <D LD n.shm.ﬁmq L gBem Ly | | o : -. IR
(A) T7Q@s.8.°
~(B) T77Gs8°
tC) 77 Qz.8.

D) 7777 Qs.8.°
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117.  Which of the following is larger in area?

(A) A triangle with base 10 cm and height 8 em
(B) A trianglé with sides 12 ¢m, 5 cm and 13 em
\(ﬁ” An equilateral triangle whose sides are 10 cm each

(D)  Aright angled triangle whose sides containing the right angle are 3cm and 4 em |
Hemeugpeuaraihmer Lirliuereiler Qufluig arg?

(A)  igiussd 10 s, e wiyh 8 Qa1 QsmeimL (y.m;&srrmw

(ﬁ) 12Gsi, 5 QeiS whpgb 13 Qs LsstiseT o e (péGaenDd

(C©) 10 @&xf ussh eodrer El.t;lll.léﬁ Wp&Caurennd

D) GoaGsransms o drer 8w Lbshsd 3 Qad wHHID 4 Qss o der apsCaireani

163 . ) : , ' , _ '
'26. A scooter wheel makes 50 revolutions to cover a distance of 88m then the radius of the wheel

s

&) 24em

(B) 48cm
W 28cm

- (D) 12em

' 96 mu_lﬂm murmlralgj 50 apy &ﬂag&aﬂm 8& B-apws sl_sﬁmg craﬂm apg mmu_uﬂm

&ssupﬁdrem,m
@) 24em
(B) 48cm
(C).'-zscm'-

@ 12em



76.

| ’%’ §4 Find the cost of carpeting a room 13 m lc:ng and 9 m broad with a carpet 75 cm ﬁude?f nne
 metre of carpet costs Rs. 12. 10 | _
4/ Rs. 1934.40 - " (B) Rs. 193540
Rs. 193640 | (D) Rs.1937.40
13.8 fSemb, 9 18 DIBEOAPETENT (M ammmm 75 Q&S BiHeLs Gurrrra:-suuﬂmrrw @@ LISLJ_@G@ . 12.40
eligld Qeaafle: sieiafss %m Caaa) srams ' | '
@ o. 1934 40 . ® . 1935.40
© © 193640 . D 19740
165 |
72. A cube of ed.ge 15 cm'is mmeraed comp]ﬁtely in a rectangular vessel contammg water. If the
dimensions of the base vessel are 20 cm X 15¢m, find the rise in water level
@ 1025em o112 cm
© 1lem . @ 10cm
) Qmeus eugeuuurgfrsdler o crer ﬁmdlﬂm @@m@mrrs Ql_,opﬂ @@ 15 Q&b um@m He
sETD o dreng). LngHysSen .-_-mq.uurrsg,,ﬂm urﬂmrramn 20 Q&S x 15 Q&5 erar @mpsred, Fewatt
2 WIMLD 2HGTEY STCHTSE
4)  10.25Qs8 o (B) 11.25Qs8
© 11G6as - ®) 10 Qa8
16° A rectangular block 6 cm by 12 cm by 15 om is cut up into an exact number of equal cubes.

" Find the least possible number of cubes.

%

@ 87 . . ® 38

:.(C}_as N

6 Qaif. x 12 G& uS x 16 Ga 8. SieTeyerer G Qeciouss gm@ Lﬁ,sm @wmrrm & FHY mq.sﬂmrrm y
Fan@samnas Qe L ILRAPE. GOPHSULS araref e sulenen m&gwgmaﬁs SIS,
@ - ® 38 -
© 39 " | o 4w
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3.

169
54.

In a rectangle if the length is increased and breadth is reduced by 3 cm then area is reduced
by 18 cm2. If the length is reduced by 1 cm and breadth i is increased by 2 cm then the area is
increased by 14 cm?. Actual length and breadth of the rectangle are respectively

13 cm; 10 cm o (B) 1ldem;9cm
© | 12cm; 12 cm ‘ _ D) | 15qmj8cm

om Qeaassdear fend 3 Q.8 sierey HHsAsaluC B Hsob 3 Qs.8. SR GHDEFILCLTE
upiueteunengy 18 Qs.15.2 siarey Gophg 9B, farsde 1 Q.. siarey GepssLULE Siswgid
2 QE.LE.' 2larey HfsfEsi v L md uglueTeureang 14 Q5182 seney ofafgg ABib. aaflld

25Qsdicusgder Hemd wHmib Sseb WepGu - .
A) 13Gs.5;10@s.8. T (B) 140s5:9Gs8.
(€) 12Qs.8;12Qs.5. .. D) 15Qs.5;8Cs.5

Edge of a cube is increased by 50%.then find percentage increase in tot;d surface area‘ the

cube.. - . '
(A) 108% '_ @/;_25%-

© 9%0% D) 80%

(5 &6 @u,sﬁm uash 50% s:_mng,;ﬁum_i_rrm DiF6H anﬁﬁu umuugulﬂta} gou’ . ofsflnlen -
Fgelldlsin crenan?

(A) 108% - (B). 125%
© 9% - (D) * 80%

Thé sides (in c.m.) of a right angled‘triangle are x-1, x, x+1. Then area’ of the right

. angled triangle is ‘ 7
(A 12sq.cm. . ' -'Jqu.cm.
(©  20sq.cm. o (D) 22 sq.cm. "

@ CeaCamenr l@pi@a;rramg‘.ﬁdn ussmser (@g.8.) x-1, x, x+1 aafld a@Gérﬁ:G&nw'
Qpé;@&nw'&)@m ugliueTey , | . | :

(A) 12 g.Qg.b. . : (B) 6s.Qs.5. o

€) 20sQs8. . (D) 22 5.@s.8. . -
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171

If a, b, ¢ are lengths of 3 mdes of a rlght angled t.nangle whose largest side is ¢ then the
relation satisfied is '

(A a?+b2+cF=0 o (B) a+5=¥c"

(€ o =2bc - - Ma2_+b2—eﬁ=:0'

a, b, ¢ erenuan g GemCaran apaCaramgder apeny) LGSR SET GTaTey LD &mmga_@umm u&sSLD ¢

eramayid @ mLndlen Spsaair Qgﬂl;frusslﬂeb erg) sflwirang) ?

@ Pebid=0 ® a+b=c

«© a®=2%c - ®») a®+b% —c* =0

Ina parallelogram, if the larger angle is 30° less than twice the smaller angle then the
smaller and larger angles are respectively . .

(A 200,500  (B) 30° 80°

© 50°7° - - @M70e, 110°

@i @eeamsysden Gutﬂu.l Gsrrmmuangj Sigen Sl casnmr,slﬁal Bm wLkiens &l 30° @mgyemm;

- @sdpg arafléd Aflw Garamb whpib Guiiu Garemd apenpGu
Ay  20° 50° : ' (B) 30°, 80°

© 50°,70° D) 70°,110°



- 53.  Arc length of a circular sector is equal to the radius r of the aector Area nf that circular

.172 sector is equal to
- 2
@ P ® Z
: _ 2
o o N
- 1/‘ = B S o2
@ eulLé Garewrd u@gullen sﬁlmoﬁlm femoreng agm D T &G FLODTTD .aqe.lmr__l_as
G&rrmuu@,ﬁuﬁar uguuGrey '
: _ : : ' 2
@ o ®
(€ r_; ‘O 2r°
173 - | _ :
41. A 120 m long rope is cut into 3 equal parts then the length of each part is
| 40 m | . (® 30m
(©)  50m y @ 2%m
120 m ;_%a‘r@psrrm ) aaui}mrrmg LRSI FLD gamr@aaﬁrrrs Gml_l_uu@aﬂm@ ga.l@surr@ gjsmsrq.m
Bergpib | -
(A) 40m - ' (B) 30m
(©) 50m - @) 25m
174 ' . ' :
44,  If the length of the diagonal of a square is 20 cm, then its perimeter must be
(d) 10¥2cm | | (B) 40cm
f 4042 2cm _ ' (D) 200cm
R agmwm apeaal L Berid 20 cm crefled @qﬁﬁm a-.m,marm
(A) 10v2 Gs.8 (B) 40 Q.1

(C) 402 Ge.8 | (D) 200 @s.5 |



%%5 The area of a nght angled tnangle is 40 tunea its base then its helght 18

({\so cm S ' (B) 40cm
() 70em ' (D) 90 cm
9@ G&m@&nm me(Ba;rrmgsﬂm uyuumeq .g{g;ﬁfr .gqquu&as <DIGTENEU sﬁh._ 40 LDI.I'BI@; Graﬂm DS

@A) 80Gss | ©(B) 40 Qa8
(©) -70@s8 (D) 90Qsi8

176
93. The dlﬁ'erence between the length and breadth of a rectangle 18 23m If its penmeter 18

206 m then its area is

11795 m?

‘m 2520 m?
2240 m?

(D) 3250 m?

R Qmmasgsﬁar 5m§£m@m awg@m@m 2 _arenm Gmguu@ 23 8. a@guml,,m Jr!_!)_l!]ﬂﬂi?q 206 lﬁl
araffid ga@mmsgﬁm W), W

A) 1795 6.8
(B) 2520s.5
(C) 2240s.5

D) 3250 .8 . | | .
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©128. From a crrcular card she,et of radins 14 cm, two cu‘c]e:s of radius 8.5 cm and a rectangle of
- 1ength 3 em and breadth 1 em are removed. Two identical rlght trIangies whose legs are Of _

yh 3 em and 4 cin are joined. Then the area of fhe newly for med card is.

548 cm?
. ®  616cm®
{C) 708 cm? _
(D) 748 cem? - -

14 Qa8 yib 2 dtar a1l augal Sito b Bmpe 3.5 Gt it 2 drar @ran{ eu L kEED,
3 @eS fangpid 1 Qa8 isaapts Qsmei - G0 Gl&meua;@m el 6@, 3§ a5 wppid 4 Ga. o
Fireoaen  Glg el Qe Gama q,o.sﬁasn'mrmasen @i;remsr@l @ms&m&&uul_l_rrsu L_|§,15rras a_@mrr@_;m

NG, o uquumm GremEn ?
TA) 548 Qe
® 616 Qs 5
(© 708 Qo
D) 748 QE_LSZ

: 178

- 159. A rectangular sw:mmmg pool 60'm long, 40 m w1&e and 1.5 m deep is to be tlled If the sule
of the square tlle 18 50 cm, Find the number of tiles needed.

&) 10200

\}Eﬁ' 10860
| C(© 20400
- (@) 20800

P - Qasusues R ngLLq_uﬁm ﬁsm.n <S{EaLD mg}gum LD mem@u.l 60 5, 40 Lﬁ 15 5.
_@ﬁ@g,rruqﬁ@ anL_Qe uﬁs& 50. QE B LgsiD Q&rrsam_ &gw' ml_amu er,sg;smmr Ggmmuu@m?

() 10200 __
(B) 10800
~(©) 20400 .

(_D) 20800
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127. The radii of two cylinders are in the ratio 3 : 5 and their heights are in the ratio 2 : 3. Find

the ratio of their curved surface areas

'\yz:s o . C® 3:5

© 2:3 | @ 1:1

@m ﬂ_@mmﬁqﬂ&r %miuﬁaﬂsh flflgn 3 : 5 wpmb wiemauseiien e wrkisafien sﬁlaﬂgﬁ) 2: 3 aafle,

Sieup e ayanaray LITLILIeTaySeflen a&'lélgg‘.@énmé; elirrss'ﬁm;‘ |
@A) 2:5 | o . ®) 3:5

© 2:3 o o 11

180 . ' L
128. The cost of carpeting a room of 18 m long with a carpet of 75 cm wide at Rs. 4.50 pe_r,met-.er-

is Rs. 810. The breadth of the room is

(A Tm | - M.sm

(Cy 8m ' | (D) 85m

18 LBL_u_rr ﬁm@pmﬁn @ff SiepéE 75 cm amqpmm SELDLIETLD sﬁlﬂsas @(-‘_r, :.Er_v_@mg. e5. 4.50 eigid
. 810 Gmmrrél;og SHS almmuﬁlm .-_m.smm GTGHTGIT?

@ 7L ® 7560l

(C) 8dlLr | - (D) 85BILw
181 , | o
129. If the diagonals of two squares are in the ratio 2 : 5, find the ratio of their areas

SA) 2:5 | ® V2:5

&3{4:25 @ 812

B sgirhiseien gpoeeil L hisafiern sllflgin 2: 5 areefled, Deupler LpliuaTeysatien alSFh eTenen?
@ 2:5 S ® 2:45
© 4:25 - @) 8:125
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48.

183
95,

_ e _
Two right circular cones have equal radii. If their slant heights are in the ratio 4:3, then

their respective curved surface areas are in the ratio

(A) 16:9 ®) 2:3
Mc;:a | (D) 3:4

@ran® Cpiaul sublysdr @Gy swwrer grismer GaTan@ang. Somauaaian sl L wgREeT
4;3 eremy - l8pEHo BmLnden amm&nﬁm_ sueneTlilp uerLseT penpGu _
fgsHd @meEEL. _ |

@  16:9 ® 2:3

(Cy  4:3 (D) 3:4

A cup is in the form of a hemisphere surmounted by a cylinder. The height of the cylindrical -
portion is 9 cm and the total height of the cup 18 12.5 em. Then the radius of the cylindrical

portion is

M 35cm | (B) 2.5¢m

184
42.

© 215cm D) 9em

S G.srnhmuurrn@ amq&*%mﬁ,ﬂdn By emenen Renears el 2 drengl. ﬁ..@mm u@ﬂuﬂ&r
2 Wb 9 Qa8 whpb Carliemuuiien Guongs e.wurb 12.5 5. aafléd, e meneru ugHuden HTn

(A) 3.5Qsdb. E B) 2.5Qs.4.
© 215Qs8 . O 9Qs.S.

Three cubes of iroﬁ whose edgea are 6 c.m., 8 c.m., 10 c.m. regpectively are melted and
formed into a single cube. The edge of the new cube is .

12 c.m. | (B 14 c.m.
(C) 16cm. o D 18cm.

6 Q&ib., 8 GI&.ILB., 10 Qs.5. Bargperar dlafibuseens Qanam._ qpenp sadegy cug.elle o arr
Q@wiSieen e BER QM SAFFLTEDS B (hA rédee sibs LS sars 55 rSHem eflaflibllen Berrid

A 12 Gsib _ _ B) 14 Ge.b.

(C) 16Qs.8. | (D) 18 Qa.d.



93. The height ﬁf an equilateral triangle is 10 cm. Its area is

_185 (A) %g-cm? o . | (B) 30 cm?
z 100 2
(C) 100cm? | ey _

swLés apsCanangder 2 rb 10 Ge.8 aaflé) iger LrULIeTey

A » 130 Qs . (B 30 Qe
| . R 100 .. L
© 100Qas . - D) Eagﬁ

186 :
123. A solid right circular cylinder has radius 14 ¢cm and height 30 ¢m. Its curved surface area is

(A) 2240 cm?
(B) 2260 cm?
(© 2460 cm?
\J 2640 cm?
B ST $pﬁm|LL m@meﬂﬂ& s 14 Q5.8 wpmid P_:U.IUH'J. 30 Q.18 el Y mmmﬁuﬂq |
A) 2240 Qs.h2
(B) 2260 G562
{C) 2460 Qg..52

(D) . 2640 Qs.52



F
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124. Find the cost of fencing a square park of side 250 m at. the rate of Rs. 20 per meter.

(A)  Rs. 10,000
® Rs 5,000
© Rs. 15,000

wf Rs. 20,000

250 BT ués BieMey AETATL, a5IT cwr.clcmen wﬁsmﬁlm@ Geu jeowss BC i mkg . 20
Qmm Qaignad Gouell aqmmuu;mg @b Qurgs Aswea) ada?

® @ 10,000
B)  .5000
© 15,000

188
131. If the vertices of a parallelogram taken in order are respectively (7, -3),(5, 4),(1, 5} and

(p, —2) then value of p is

@ 1 : ® 12

© 7 : | ¢ 3

o GemomsriBen o 60 it aewsrs (7, ~ 3,6, 4,(L 5) whpid (5, ~2) aen Sevoppte
. p-dawdiy |

@ 1 ® 12

© 7 : x ® 3
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»
@)
3)

4
w

(©)

132. Which of the following is/are lbecomé posgible for lengths of three sides of a triangle?

9ecm, 4cm, 4 cm

13 em, 14 cmi, 25 cm.

Hcm, 3 cm 3 cm

8cm, 4 c:ﬁ, 3 cm .

@, @ L ® 0.0
@only . @ .G

GeneumeeeuDIIeT e T G pECETaTESdr apay Lssksaidar fakses §Hés Bugnnp?

0
@
3
4
A)
©

190

9 Qz.15, 4 A#ab, 4 Asad _
13 Ge.15, 14 Qa.18, 25 Qa8

5 Qs.8, 3 Qx15, 3 Gaib

8 Ga.5, 4 @zub, 3 Gaib |
@® L ® Wee
@ woipe D W

174. Find the height of a parallelogram whose area is 49.92 cm? and base is 7.8 cm.

)
(B)
(©

56 cm

6.6 cm

5.4 cm

d 6.4 cm

P BDoaragsen upluera) 49.92 Qg5 igar digLussD 7.8 Qs.15 erafla GSEIWTLD TeHear?

(A)
(B)
(C)

D)

5.6 Gz 8

6.6 Qg8

5.4 Q5.8

6.4 Qa1
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192

Ifﬁnglés LA,ZB,L”C, D ofa.quadri_lzitéra_l are in fhe ratios 2:3:5: 8 thertt' .ZD egualé-
@ soo R |
B) 100° | - - - | : |
160 R R
™ 180° | |
| 9@_’5 B HaEyE S Gérramﬂmir LA, éB, 204D syflwer 2 3:5:8 aam HfssHe
- antohglerenes arafldy LD —ait Aoy ' '
@ s | ,
@ 100°
©  160°
@ 180° S - S
The area of the rhombus whose diagonals are 20 cm, 12 cm is

93.

193
1560.

P 120cem? (B) 200 cm?
(C) 400 cm® (D) 600 em?®

(B i sEiTsAen ppenarsii L siaraysar 20 Gs.5, 12 Qs.f araflld eisenen i LptiueTey
(&) 120 Ge.f’ - (B) 200Qs.8
(C) 400 Gs.5° (D) 600 @s.5°

A wall 15 to be constructed with length 60 m, breadth 3 m.and-he.ight 5 m. How many bricks
are required to construct a wall with length 30 ¢m, breadth 15 ¢m and height 20 cm?

(A)  1,50,000 B) 1,25,000
@ 1,00000 (D 1,75,000

framd 60 15 simeid 3 5 2.umi 5 15 eanw seuit erepiu Femb 30 cm x wisab 15 cm x 2 wipb 20 cm
2 aoL w1 Glsiishadt o gsaman Ggme? |

(A)  1,50,000 . (By 1,256,000

© 1,00000 - @) 1,75,000
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160.

195
162.

196
166.

The diameter of a circle is 10 cm. “P” is the péint lying outside the circle. From that point
“P” two tangents are drawn to the circle. The length of each tangent is 12 em. What is the
distance between “P” and the centre of the circle. .
(&) 12cm | " @ 13em
{Cy 15cm , (D) 10em
10 @&.15. eflL_qperer aul L gdlan AeuafiCu “P” erem yarafl 2 drergy. yerad “P@eflmhg cu_LsdnG
Queanp Garhlar@ser aemuiulGerergl. peubarg QsrHlsm e Bargpw 12 Qe.b. srefla
el gfldn o sfme b Latafll “PrEgh Ger (Ul L GgTanae] erese?
(A) 12Qs.8 (B) 13Qs.5
©) 1506515 ' Dy 10Gs.b
The sides of 14 Squére’s are 11 ¢m, 12 em, 13 em, .......... 24 em, then find the total area of
14 squares. .
(A) 3515 cm? | @ 4515 cm?
(C) 2115 cm’ ' D) 3215 cm?

11 Q& 12 Qe85 13 Qb 24 GaiS <y Sluareupenm @.?swm&u UGS siaTasamas Demam_
14 sgirrusalien Qorggl LUy STTS. .

(&) 3515088 - | (B) 4515 Q.8

(©) 2115Qs.8 . (D) 3215Qs.5

Using the clay, Malaf makes a cone, a hemisphere and a eylinder have equal bases a‘nd_the
heights of the cone and a cylinder are equal. They same as the common radius then find thg
ratio of their respective volumes R . , R

W 1:2:3 o O @®) 1:2:4

€©) 1:2:6 - o O 1:2:86

mmﬁ.-aaﬂmeﬁrﬁ:m.huﬁm@gﬁ 26 &by, GG d@FsGarand HHIbL G 2 [Geme :,%eEEuW' &0
SitqLILgLIL P DD sabiFe 2. WD, 2 menarider 2 ySH0E FoLTGaD CaiETar. Gmgjm-@msqtumfm
Supdler rsfiE sownsad Smpsrd Ebepsarblar s Sereysendta G 2 erer efldign

. GAWS . :

(&) 1:2:3 T ® 1:2:4

© 1:2:5 . - D) 1:2:8
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167. Sphencal metal ball of radius 6 cm is melted and casted into small sphencal balls having

diameter 6 mm. ‘How many small balls can be casted
vt)’ 8000 - | | (B) 1000
(C). 6000 o D) 2000

6 Qs raperer Cararaugu e Canss @an® L@.sasuul_@ 6 .48 eﬁ]l_l_@srrm ﬁ;ﬁ]m (BEITGTI‘ELILQ_E]J
GO ECTTE UTTEEULILL TS Grﬁﬁmﬂ'l‘ Eiflw Caremeuin o ger(Hser élmi_as@u:?

(A) 8000 : . {(BY 1000
(C) 6000 . D) 2000

. 198 |
168 The radii of two circular enda of a frustum shaped bucket are 15 cm and 8 cm. Ifits depth is

63 cm, find the capacity of the bucket in litres (Take :z=—)

(A) 2.6994 litres - &  26.994 litres
(C)  269.94 litres | (D) 2699 .4 Litres

T @mm cugeliemen mrrmﬂlﬂar Gmg)qm LODEILD i LIL|D <y i rEIseT @mm@u 15 Qa5 mmgum h

8 QE 8. Gmgmn Rpipid 63.Ws..5 srmﬂm 2y péT stﬁmmmm LR smedra (:r——)

(A)  2.6994 &loLi | (B) 26.994 Sl
(© 269.94&hir - (D) 2699.4 Srit

199 ‘ ‘
180. If the diagonal of a square is 10 ¢m, then the side of the square 18

wf 542 cm : (B) 2v5 cm
(C) 3«[5- em | | (D) 53 em
B sgirsden fpaasilie b 10 cm srafld g6 LES iatay
(A) Ew@ cm _l B) 25 cm'
(C) 3\(3 m - (D) 6543 em
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181. A school auditorium is 45 m long and 27 m wide. This auditorium is surrounded by a -
varandha of width 3 m on its outside. Find the area of the varandha

(A) 864 m® (B) 846 m?
\.Zf 468 m? D) 648 m?

(5 Latafiufleh o drer semed s gher Berd 45 B, simab 27 8. s saLgongs spfl Qeualiliypiors
38 sswapdter Srbeungb e.arengy, srpeumrssler urliueTey eTeen?

(A) 84m® - ' (B) 846 m?

© 468m® (D) 648 m®

" 201 | | |
188. The curved surface area of a right circular cylinder whose radius is ¢ units and
height & units is
(A) za’bsq. unite o L@‘)” 27 absq. units

(C) 2x sq. units . . (DY - 2 sq. units
& BIQGEHET TP, b S@S e waph Asmam G GBiraul L o [menanildr cuanamiyiiy
(A) na’h 5 swesdaT (B) 27ab s s@Esa

) o & SBIOEEET D)y 2= é;a}@esm

. . - .
202

85. Find the area of a right a;ngled triangle whose base is 12 em and hypo;:enuée 13 em
M 30 cm” . By 40 é,mz
" (C) - 50cm? _ ‘ (D) 35¢m*
o QshGaran apsCaramHer i liLEsd 12 Qzb siemb 13 Cs.i8 aafld Uiy srer
(A) 30 QsE | . (B) 40Qss

(€ 50 Qs ; ®) 35 Qe
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141. Which of the following set of measurements will form a right angle triangle?

(A) 6,912
(B) 5,8, 10
e 55 5/2

D) 3,4, 442

&G Qar@asiiul L sjareyseilc aevas Qe Gamenr WPECETEENE HEEGD?

(A) 6,9 12
B) 5,8 10

(C) 5,5, 542

@) 3,4, 442
204
148. Three angles of a triangle are x - 30°, x — 45°, x+ 15°, find the value of x.
(4) 60° (B) 40°

\}9’/ 80° | M) 100°

R Qpé;@a;rrmglé,ls't-n apenm Caremiaar x — 30°, x— 45°, x + 15° arafleh x-am iy
(A)  60° ' (B) 40°
() 80 (D) 100°



l%%S The base of a triangle is four times its height and its area 1s 50 m2. The length of the base is

(4 10m
B) 15m
W 20 m
D) 25m

¢ WwsGarensdlen g ussiDd, 2 wrdHen 4 wLkigse swb WHHD Sisar uytiuare) 50 B2 arafld

<SIHEHT Sl LILI&S S|emé]
(A) 106
(B) 1561
AC) 2048
D)y 258

- —

6 .
125?3. If the ratio of length and breadth of a rectangle is 4: 7. Find the length while its breadth is
77 cm, - '
(A) 22cem
(B) 33cm

\M 44 em

(D) 55 cm

@ Geceusifer bor sswhisafian alflgn 4: 7 gEn. Ssow 77 a8 aalld igar fagags

& TG,

(A) 220s.8
B) 33G@s.8
(C) 44Qs.8

D) 55Q@s.8
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194. Avroom iz 5 m 40 ¢em long and 4 m 50 cm broad. Its Area is

(A) 23.4m?
B 24.3m?

(C) 25m?

(D) 98.01 m?

e sieopurerg 5 40 Azl Beraptd wpmid 4 18 50 QF.8 siseapd QaramHaretaney srefed oigen

LgrILaTey
(A) 23482
(B) 24.3.8°
(C) 2582
(D) 98.01 82

208 ) : .
197.  The breadth, height and volume of a cuboid are 10 c¢m, 11 cm and 3080 cm® respectively.

Find the length of the cuboid.

(A) Z2lecm
B  28cm
(C) 24em
(D) 30cm

20 sa Aecususgdlar sisaid, 2 LD, seroamay wapCGu 10 G515, 11 Qs.48. whmw 3080 G
eTailed Digen Barsang sam_ s, : '

C(A)  21Qs8.
(B) 28 Qa.ib. i
(C) 24 Qa.ib.

(D) 30 Qeib.
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32.  If the radius of a circle is doubled, area is multiplied by .

@) 3 - - ® 2
) F N . o s
S UL SHler 2o @@muﬁmrrsum&), <D Fem Lun‘.l LIeTeney <460 Qu@a’s& Cauamr(HLb.
A 3 B 2
€ 4 D) 8
210
| 41. One side of a parallelogram is 18 cm and its distance from the opposite mde is 8 cm. The
area of the parallelogram is
(A) 160 cm? | B) 230 cm?
% 144 cm? - o D) 140 cm?
@5 @mam;l;g@m 9@ u&sid 18 em. g umg@aﬂ@;g SH55 uma;gﬁm@ -1 Qg.rrma)m 8 cm
crafled aqmaﬁlmmmu’g@ar I_IIILIL|
@) 160cm? ®) 230 cm?
© 144cm2 . | (D) 140 cm?
211 _ S o '
42. A square and a rectangle have equal areas. If their perimeters are P1 and P2 respectively
then ' '
M P<P - ® B=PR
€ B>P -_ ©) P =P

QO s517D LHPD Asdiusgfan LLLaTayEH swid. SeupPler sHperayssr apepCu P1 wpmpid Ps
eraiflcy s ' |

A HAR<pP . B A=k
(C) P1>'P2_ ' : M PAzPk
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59,

50 circular plates each of radms 7 cm and thickness % cm are placed one above another to

form a solid right circular cylinder. What is the total surface area of the cy]mder so formed?
(4)  1230-cm? . - (B) 1332 ecm?

ue)’ 1408 cm? . . (@) 15%0cm® 7

7 Glsl.ﬁ STApD, % Gla.E &aQpLD Qamair_ 50 aul L auigeu st Gaer gmmm Cuwod genprs a@uuun_@

. e Gprrmi_l_ 2 mevar a.@mrrauqma@ @;ﬁgv_@mmﬂmﬂmugﬁ u;ouuuuarsq wng?
(A .1230 Qaﬂ? ' (B) 1332 Qsf?
(O 1408GsE2 D) 1560 @mﬁi |

213
.60,

A d.ram cover is made &om a square metal plate of side 40 cm havmg 70 circular holes of
diameter 1 cm each drilled in it. Find the area of the cover.

(A) 1380 cm? o | \ﬁ!{-lmacm“

© 1655cm® | . @ 1820em®

40 Qz.8 usa@mm R 55T LGaJnsg ,5|_|q.sb 1 Q5.8 Gﬁ'll_l_@pm 70 sul_r_gs Slenensedr @ UL H

. G SO aply. Qmuuu@ﬁfpg Tefiéd aubg apig.udlesr ur;ruanua; STeRT

214.
152

(A) 1380 Q52 o B) 1545 Qaf?
(© 1655 Qab? - | @) 1820 Qa2

The inner and outer surface area of a hemsphencal dome of a bmldmg needs to be pambei ,
 If the thickness of the domemﬁcmandthemermrcumfe;rencaofthnbmmﬂﬁm,ﬁnd
thecoatcfpmnhngxtattherateoﬂ{a.spersqm .

(A) Rs.480.2 - L®Y Rs.501.7
(© Rs.2563 () Rs.2464

- SepCarer mq.a: Qmp&mqﬂm n_u_l.un DPHHIUD Qmeﬂuqm mmaru;ruﬂm@ afamd s

CouaiTiq L GTETE. S1S6 2 L 1| aqqmmm 17.6 8 mmgm gq.mu:- 5 Qe.8 arafied, G agm.ﬁn...t_@sg
5. 5 aSgib, auitemd & G Qonss Gewmes stars. ’ :

A) @ 4802 | | ® 5017
© ©2553 B - @) m.246.4
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- 5 . ’
l%h A ﬂower garden is in the ahape of a rhombus. The leugth of its dmgonals are 18 m and 25 m.
Find the area of the flower garden. '

26m? ‘ ® 18m?

u,q’ 225 m? S D) 450 m*

216
155

o0 Hﬁcﬁm EMUSHIMD ﬂ-"q-eﬂﬂ) ©_GTeTgL. DIBeN Gpmw Gﬁll_a_mm 18 8, 25 (5. Hm@gm_l_pﬁm .

UpLILeTa] STERTS. o ‘ _ . I
@)  2Bm? - . ® 18m® |
© 225m?  ® 40om
- A hollow sphere in wmch a circus motor cychst performs his stunts, has an area of 164 m?

available to him for ndmg Find the inner radius.
@ mm - & 35m

© - 4m . ® em

o _ '9@ a.dmﬁ_;p;n Gsmg&ga'r u_qmu:rrs e sissd oyt GumlLmr ma&aﬂaﬂm alrsa.n Qar-r.ueﬂ;pmr -

. Sip sres ey srasD Qnuuu: urliuerey 154 i8° crefié si&Canargfen qu Qu’m STANE.

@& 74 . ® 358
© 48 . o D) 68

1%197 Find the costofﬁ]]mg a pit ofd.lmenslona me4mx2mw1th soil if the rate offi]]mg is

Rs. 270 per cubic metre

\Jx/nmosoo L ® R, 1,080

© Rs. 10,080 B (D) Rs.18,000

518 x 4 5x 2ﬁamm9@@gﬂ mmm;ﬂquuuu@ﬁw %mﬁu_w m;ﬂ;ruu o
B0 Q&mq m. 270 erafldd err,s; Qsaenaus m{})lﬂq.. ' : :

@) ©1080 S ® ©1080
© 10080 . O 18000
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160, . If t.he area and arc length of the sector of a circle are 60 square metre and 20 metre

_ respectively, then find the dlameter of the circle

(A) . 6 metre I \,B(IZmetre
© 24 metre . : S (D) .36 metre

S ml_l_.scsrrm'u u@Suller um.||.| 60 a5y LEl_l_lr HHID sﬂaﬂlér ﬁrmn 20 Lﬁl_l__rr srﬂﬂm mu_gﬁm

eﬂu_ﬁmga;mmrs _ , o
@ 6dLh - ® 1280

'_'(c)_ 24;5c_._rr | - (D) 3B
-w | -

1%% Find the length of a chord which is at a dlstance of 156 em from the centre of a circle of
rad:ms 25 em. _ _

(A) 45cm
- 40 cm
€ 42em

(D). 50cm

Qn_r, mL_L_ﬂQar enwwGHlelmpg 15 em gwgﬁm 9;@ plrm'r Siwpgdrag. @il LSS b 25 cm

arafld) preflen Fembd Snedrs.
(A) 45cm
(B) 40cm

(C) 42cm

(D) b50em



1?3?2(-) ‘Three angles of a triangle are 8x+56°, x+20°, x+25°, ﬁnd ‘o,

-@/26

® 28
(€© 30

D) 24

- pEGaramiden apdnny Caramiae penpCu 3x+5°, x + 20"; x+25° arefléd < e @@uq wingy?

Aa) 26 .
By 28
(C)- 30
® 24

221 - | | S
184." - A rectangular ground is 80 m long and 60 m bmad It has two cross roads of equal mdth one
is parallel to length and the other para]lel to breadth If the area of these roads is 675 sq m.
' Fmd the width of each road. '

@ 3m | | I
yﬁm ' - - : , .
© Tm L - | : ' -

(D)I 10m

R Glseumes ;_F,lmg,ﬁar .san.n 80 8 wysab 60 6. Iﬁmﬁ@m jSargsﬁm(g @mmrr&mm ampﬁmg
Baarunsad @Cr sisoqperar mgSqurrmg o CTETS|. m@uurrm;&aﬂm us;n_n_| 675 5.8 adia:

_ utrengullen i&QLD ereman?
(A) 3.8
® 56
(C) 748

®) 108
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1

10 m

\g/mm

fD?

14 m
16 m

88. If the capacity of a cylindrical tank is 1848 m3 and the diameter of its base is 14 m. Find the
depth of the tank. . :

n_@mm mq.m @pm_q.uﬁkn Qemarateta), 1848 |.85 LODGID SiBET UL alq.uum,s,ﬂdn efllth 14 &
el pS 2 (Henar G,sm_lq.uﬂar £_WITLD GTemar? '

(A)

®)
©.
[}

223

10 8
128

1418
1618

189. A chess board contains 64 equal squares and area of each square is 6.256 sq.cm. A border

‘around the board is 2 cm wide. Then the length of the side of the chess boardis . -

(A) 20cm
®  22em
Mﬂicm

21 cm

B TS S ulld 64 Fo siaey sgITRIGET ecTerar. GeuGeun J@Uﬁ@tﬁl LpueTeyh 6.25 &.0s.18.
2 e 196 spdlgid 2 Qs.b asmg@ﬁ)@ aey (Border) eflL i [érengy crafléd sgiyiis amLﬂm

LbESHleT SeTay eTenaT?
(A 20Qs.8
®) 2ass
(C) 24Qs.b
@) 21Qsi5
HC2GST/16 |

H

72 | | B ¥
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146.

225
147.

The difference between two parallel sides of a trapezium is 4 cm. The perpendicular
distance between them is 19 cm. If the area of the trapezium is 475 em?, find the lengths of
the parallel sides

(A) 20cm and 16 cm
w 27 em and 23 cm
(Cy 27cmand 20 cm
(D) 25c¢m and 23 cm

om sMassa @m Qeer uvssusdds ofsfured 4 Qsb. Cueud @euallm Fenenr
LasRsERESoLCu o drar Qeii@sgl gimd 19 Gab. sfleussdlan ugluerey 475 Gab? aafld siper

Bm Qevarr Lssrusafldn SieTaseT wTameu?
(A) 20 @8 wpgud 16 Qb

(B) 27 Qaf wppd 23 Qb »

(C) 27 Q&b wppd 20 Asb

(D) 25 Q&8 wpmd 23 Q&b

The perimeters of two squares are 40 cm and 32 cm. Find the perimeter of a third square
whose area is equal to the difference of the areas of the two squares.

(A) 40cm
(B) 36cm

@ren(® sgruselan sppeteysdr pepCu 40 Qs wpgn 32 Qas. Qeuchm sgyhsefien
urauereilén eflgdunagensls LTLILIOTAUTSES GaETETL APETDTCIS) sgInSSen ahpeTey ereen?

(&) 40 Qs '

(B) 36GsS

(C) 12Q&b

(D) 24Qab
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42&6 The metallic sphere of radius 12 ¢m is melted into three smaller spheres. If the radii of two

smaller spheres are 6 cm and 8 cm, the radius of the third sphere is

(A) ldcm (B) 16cm
W e _ (D) 12cm

12 Q&.8. operer @ Gomer @GaTL TS o m&d apeanmy Ap CamerriEeTTs wropluGEng. WPse
@reir® Caromgeflen pymaen 6 Q&.8. whmb 8 Ga.5., epenprals Canengdlen <imb

(A) 14 Q&.b. (B) 16 Ga.b.

(C) 10 Qa.5. D) 12 Qa.ib.

41, A square is inscribed in a circle whose radius is 4 cm. The area of the portion between the

circle and the square 18

S 167-32cm’ (B) 32r-27cm’

(C) 20z +1lem? . (D) 127-4cm?

4 Q&8 =rd Qsram_ gm WL FHVG @06 sgTd  uemuULBHEDG s el LgHn@EWw
sETSHHEL G LulL ugduler Lty
(A) 167-32 Qg5 (B) 327-27 Q&2

(C) 20x+11 Qe.b2 (D) 127-4 Qz.5.2

2

4%8 The perimeter of one face of a cube is 20 cm. Its volume must be
(a) 215 cm® (B) 200 cm®
P 125’ (D) 8000 cm®

@b SE sgITSH @ LsESHIML W SHDETE] 20 Q&.8. crafles 2igen e HiaTey
(A) 215Gs.5.3 (B) 200Qg.53

(C) 125Qs.53 (D) 8000 @#.53

b LTGS!
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45.  If the side of an equilateral triangle is decreased by 20% its area is decreased by

(A) 42% By 36%
(C). 34% | (D) 20%

e swuss WaGsramgdlar gm LsED 20% GepEEILLL T SipsCaramaden LpLLarella

gpuBio Geopey ‘
(A) 42% (B) 36%
(C) 34% ’ D) 20%

4?6:? 0 The area of a circle is 220 cm?, then the area of the square inscribed in the circle 18

A) 120 cm? ' B 140 cm®
(C) 135cm? (D) 250cm?

@ i LsHer Lpliuerey 220 £.04.5, erafler wicueul L SEHGET Sienowd sgSHen LgLLeTey

(A) 120 5.Q&.15. (B) 140 5Qs.b.
(C) 135s5.Qs.18. ’ (D) 250 &.@s.15.

231
88. If length and breadth of a rectangle became half and double respectively, then what will be

the % increase in resultant area? -
L 0% (B) 55%
© 5% @) 80%

o Qesicusifan Bord wHmL Sswb pepCu urd LHPDL PEHLLBEG 6w wrpbGUTE
UpliueTedléd ghuULSsnig W LOTMHLD FSESSD Wrg? '

(A 0% B) 55%

©) 75% ' (D) 80%



232
93.

233
17.

57

One side of a rectangular field is 15 m and one of its diagonals is 17 m, then area of the field
18 :
@A) 32m? @ 120 m?
C) 2m? (D) 60 m?

Qseucus eugeu Hlosder @m ussd 15 5 wHHD g @@ epee el L 17 8, aafid Hagdd

ulLieTey
A) 328 (B) 1208 _
(O 2 O 608

The total surface area of a solid hemisphere of a diameter 2 cm is equal to
(A) 12cm? (B) 127 cm?

(C) 4z cm?: ﬂ 3r cm?

S Hemo ey CamengHen AL 2 Q5.5 arafléd igean Ginds Lmiugay

A) 12 Qsif’ B) 127 Qs.8’

(C) 4r Qa8 (D) 3z Qa.b’

How many cubés of 10 cm édgel can be put in a cubical box of 1 m edge?

(A) 200 | , @f 1000
© 10 - D 100

1 Bl eflefiby a&m Qanar_ sadsgyl Quigued 10 Qs wetey Qamere afgemen |
SENFFF|EISENET MEUSSETLD P |

(A) 200 . ® 1000

© 10 . ) 100
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38.

78

237
82.

&

‘How many cubes of 3 cm edge can be cut out of a cuboid of 3 cm x 18 cm x 108 cm?

-leﬁ'- o ., ® 32

© 38 ©) 45

3 @.8 x 18 @s.8 x 108 Q&8 syeneyever san Qecbaussddimpg 3 Ge.8. aflefiby orerey Qaneim

TEGmen SF SEITHE Qeul L @mb?
@ 216 | (B) 326

© 3 S D 45

The capacity of a tank of dimension (8 m x 6 m x 2.5 m) is
¢ 120000 liter o ~ (®B) 100000 liter
(C) 50000 liter . (D) 80000 liter

(8m x 6 m x 2.5 m) Hepsar Asrear saaflén Qsrerataray
(A) 120000 R it ' (B) 100000 Sl ir
© 500008cLi D) 80000 AL

For what value of- rad.ms of a sphere, the volume of the Bphere is numerically equal to the
aurfaoe area of the sphere .

| 1 . ; (B]l. 2
Jﬂ!"s - S O 4

@ Garargfen qwﬁﬁar erbLAULEES. Camangflen Gs;rrmmarm eTaiTanTeTeled <DiBei qmuum_nﬁlm@ |

ELDLD _ _ .
a 1 ® 2
© 3 | . D 4

The total ngmlier of all pqssible squares in a chess board is "

@ 8 ®) 64

(C) 512 | - Grrw0e

P SHIES Laesulld e drer srde sllgmar Eg.ll,l'.r'ﬁlﬁﬂﬂﬁT aanaiisms
@a 8. | | (B) 64

© 512 : ' (D) 204

Fa b b b o W
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85. What is the least number of square marbles required for a terrace of 15.17 m long and
9.02 m breadth?
@) 1242 | ® 407 ¥

Vsn @ 1000

15.17 m fergpid 9.02 m Bseqpd 2eLw @@ smaqudar Copurnisd vsss Gmmuu@m
EopHsULSs rarailamaunen a5 aula uaﬂmgssmsm THEENEN T

(A) 1242 - | : (B) 407

(C) 814 | (D) 1000

240
173. If the height and the base area of a right circular cone are 5 ¢m and 48 sq.cm respectively,

then the volume of the cone is equal to

(A) 240 cm? (B) 120 cm3

U‘”/ 80 cm?® (D) 480 cm®

5 Qe.d5 2 wpapid, 48 5.08.8 B lLESILTOL D Qema_ @ Crraul Ls sabller sarsiarey

(A) 240 Qs.83 (B) 120 Qs.8°
(C) 80Qs.5° (D) 480 Q&5
241
44.  In a cylinder, if radius is doubled and height is halved.then what happens to the curved
surface area? _
(A) Halved (B) Doubled ’(d Does not change (D) Four times
@(m 2 menerulley, =y @ wLasTaa R, 2wib Lrdurs G DaEs LI T DIGeT LUy
CTEIEMEUITEHLDL?

&) urdurgo B) @wuwv_msigd (C) wrprg@oéet D) preane wLkSTED
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243
49.

The length of side of a rhombus is 5 m and one of its diagonal is 8 m. Then what is the
length of other diagonal?

(A) 5m (B) 7m Mﬁm (D) 8m

@, smusgITSSer Lssghen hatd 5 5, 2iger gm peaell L _sdlar Bord 8 15 arefld sigern LHAM(H
epameuedlLgglem Hemb wimgy?

(A) 58 OB 78 C) 68 (D) 8

The length, breadth and height of a hall are 8 m, 10 m, 4 m respectively and the hall has
one door of area 3 m x 1.5 m. Find the cost of painting the walls at the rate of Rs. 200 per
square metre. :

(A) Rs. 28,800 (B) Rs. 59,900

«  Rs. 27,900 D). Rs. 60,800

@ sewpuilar Bend, Ssab wHHID 2 WID (g)mg)GLu 815, 1048, 4 LB whmd 3 8 x 1.5 8 uquumeu

" Qaram_ g Ssa|bd o drang). aueed e sHT BLmEE o5 200 Qseean@hd eramrd, Siser

244

50.

245

51.

FETEHEFEE eufenTd s creuauane| Ggmens blameumeh?
(A) (. 28,800 (B) em. 59,900

(O em. 27,900 - (D) ew. 60,800

If the capacity of a cylindrical tank is 1848 m? and the diameter of its base is 14 m, then
find the depth of the tank?

M 12m " (B) 14m
(C) 156m (D) 18m

S 2w cuges Ggmiguldar Asmaiaratairangy 1848 8% LHmL SsayerL W efLonaigy 14 8
TG BiFEYMLI P WITsy? '

A) 1248 | (B) 14.8
(C) 158 (D) 18.8

_The length of a chain used as the boundary of a semicircular park is 72 m. What is the area

of the park?
A)  77m? B) 91 m?
© 126m? | - @ 308m?

ST el agalorar yrsteilar Couallwra UUJGUTU®§§LJLJLL_ siufleuflan Hard 72 S arafle,
wigEmellen Lplitene wrs)?

(A) 77 82 | B) 9182
C) 12682 (D) 308 82
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138. Find the percentage increase in the area of a triangle if its each side is doubled.

A) 100 % (B) 200 % «« 300% (D) 400 %
o psGatangdlar eaQanm ussapd B wLhsts Jdefssiul L, s uwaCaramsden
uptiLeTey erhhaman s6e150 S aTSH mEED? ' '

(A) 100 % (B) 200 % (C) 300 % . (D) 400 %

247 y | R .
81. Water is flowing at the rate of 15 km/hr through a cylindrical pipé of d.mm‘eter 14 cm into a
rectangular tank which is 50 m long and 44 m wide. In how many hours will the water level

in the tank raise by 21 em? , ,
(A) 1hr - @ 2hrs

(C). 11 hrs ' . | .CD)' 3 hra

50 & forb 44 18 mswapsier Grcuaus Qpm’igufled 14 G815 eflLqpeteT 2 et i @laplruﬂsir
afwuns 15 £.8/wefll Causgdd gesmantit aﬁ'l@&ﬂciﬂ.mgj. 21_ Qb oeney Fmollid oauy
GouetrT {5 LOMEITTE) HGID ST6) HETG

(A) lwef ' B) 2 waflzer

(©) 13 waflssr ' ®) 3wehss

248 ' : : .
124. " The circumference of a circular park is 264 m. Find the area of the park

w’ . 5544 sq.m

(B) 5444 sq.m
(C) 56554sq.m

(D) 5534sqm

el allgelly &rﬁ.hsrraﬁ'ls&r gmparey 264 15, ytisrelier LTlLeTeY &TawE

(A) 554465
(B) 54444585
(C) 5554515

(D) 55348 8



1%9 The Area of a rectangular field is 836 sq.m. One mde of the recl:angle 18 22 m. What i is. the
perimeter of the field? |

@ 100m
UD)’ 120 m
(©  380m

@ 400m

) Gms Quig ;Ela)g@m uu’uumm 836 3 tﬁ Gmms euu'.cu ‘nﬂm.s,ﬂaf RO UES DeTey 22 8 Graﬂm .

<5 Paddesn sHpeTaRe ETevrs.
&y 1008
B 1208
© 3808 o,
) w0k o |
250

42, Asquare and an equilateral triangle have equal perimeter, If the diagonal of the square is
122 cm, then the area of the triangle is '

P 645 e . ® eZem
(C) 5075 cm? _ D) 58V3cm?

G FHIQPD. G 50 usE @%nmqpm &Cr spparey Qsream_eme. agu,sﬁm @mm [T
1242 Qs8 araflé souss apaCamamgiar ULy

A 64V3 Qs | (B) 60VZ Qg8
© 50V5 Qsuf - (D) 583 Qs F



N

36. A rectangular hall 39 m 10 c¢m long and 35 m 70 ¢m broad is to be paved with square tiles.
: Find the largest tile whlch will exactly fit and the number required.

(A) 480 (B) 485

© 490 S 483

39 5 10 Qg5 ﬁam.n wpgmb 358 70 Qsif mEd QaETaT G HFEIAS cUnar HEDEG ST g)@
CurlLned, 2ips a[s»g}s(e_rg Gun@_r;g,;mrrm uS]as fsu’s gong 6T sra.laum Cperau?

(A) 480 - (B) 485
© 490 | : - (D) 483

252
146. Three solid metal cubes, whose edges are 6 em, 8 cm and 10 ¢m are melted and a new cube

is made. Find the length of edge of the new cube.

o 12em (B) 24cm (C) 20cm @) 48cm

6 Qz.5., 8 As.f., 10 Qe.18. ussperen apenmy 2 Consssraorar Seamo sanag s o MESIULE @
yfw sarsgro Asiwuuifpg eafle yHu samssrsdean Lsssgden Gemb wirg?

(A)  124Qs.i5. (B) 24@s.8. (C) 200Q&.8. (D) 480Qs.8.

253

150. A plot of land is in the form of a quadrilateral where one of its diagonals is 100 m long.
If two vertices on either side of this diagonals are 50 m away from the diagonal. Find the
area of the plot of land

&/ 5000 m? B) 1000 m? © 10000m? (D) 500m

@m SL® wererwuneng) BrHen augelley o arengl. osel e epene el LgHer Bemd 100 8.
ppeveall L gdler  erhHCnHi Lésmsafle 2 drer (PEDET&ET @Ufm i epeney Al LSHOmBHS
50 8 Ugreaaailer Qe weneruSlen UFOIL Wingy?

(A) 5000 82 (B) 1000 52 ~ (C) 10000 82 (D) 500 .82
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255
154.

256
144.

The minute hand of a circular clock is 14 em long and that of hour hand is 7 cm. Find how
far does the tip of the minute and hour hand move in 30 minutes?

(A) 88cm, 3.66 cm {(B) 22c¢m, 0.915¢m

@ 44cm,1.83cm D) 1.83cm, 88 cm

@@ sgemsder Bl wmgjm warll paraaflean Berd peopCw 14 Q&8 mgpgm 7 Qb
30 flbl_rusaficr Bl (peT wHmb wenfl (e eTeucueTay FNTH BETD?
(A) 88Qs.8, 3.66 Q5.8 (B) 22Qs.85, 0.915 Qa8

(C) 44 Q5.8 1.83 Qaaf (D) 1.83 Qo.iS, 88 Qo.ib

A heap of paddy is in the form of a right circular cone whose diameter i1s 4.8 m and height
1.8 m. If the heap is to be covered exactly by a canvas to protect it from rain, find the area of
the canvas required.

W 226m? B) 27.2m? (© 13.6 m? (D) 11.3m?

Criieu’ L gaidL] eug.efled Gellssuu L QpnEed wedler efl b 4.8 8 wHmb DIFHesT 2 Wb 1. 8 LB eTen s,
@b ArpEewame wenpulalmbs UngsTas Ssgrear gafiurd BasofMursg e Lubhdog eraﬂeu
Ggeneuwimen Qg@nm g;mﬂu_‘ﬂm UrlienU & Smes.,

(A 22608 (B) -27.2.4? (C) 13.6152 (D) 11.3.82

A hollow eylindrical iron pipe is of length 35 em. Its outer and inner diameters are 10 cm

and 8 cm respectively. Find the weight of the pipe if 1 cu.cm of iron weighs 7 gm.

W 693kg

B) 990kg
(C) 7.53kg
(D) 7.93kg

P eaet pp Bmby Gemler fend 35 Ge.S, mper Qauafl LHED o6 ElLLBES PopCu
10 Qe85 wHgL 8 Q.8 aafle, @mbus Gemlen amLow srams. [1. 5.Qs.5 Qe e

7 &ymiv)

(A) 693 84
B) 9.90 4
(C) 17.53 84

(D) 17.93 &4



g&;’g If the length of a rectangle is decreased by 50% and the breadth is increased by 80%, then
the % change in the area of rectangle is

W decreased by 10%
(B) increased by 10%

(C) decreased by 20%
(D) 1increased by 20%

@@ deducusgden Ferd 50% sierellpE GPDSGID, Siswgms 80% sierellpgd sfefagn Cung
Sig@ienL W UrU9e ghu @b wrppéder sgeigib eremen? .

(A) 10% @Gnm'mrras
(B) 10% siflsions
(C) 20% menpeuna

(D) 20% wiflswns
258

56. The capacity of a rectangular box is equal to the capacity of a cubic box. If the length, breadth and
height of the rectangular box are respectively 16 em, 4 cm and 1 em, then the length of a side of the
cubic is equal to-

1) 10 em 2) 8 em
3)6cm 4cm
259 : - / v
102. Two cubes each of volume 216 cm? are joined to form a cuboid. The total surface area of the
resulting cuboid is (in cm?) '
A 120 @ 360
(Cy 300 . . D) 240

216 -cm?® sen oare QaraL @m se sgHsdsr @reweuww Crigs om san Qeaasnd
o meunsslLBEDg. Sibs sen Asadaussdan Qungs Lss Lylfar iy (s.Qs.15.) '
(A 120 (B 360

(©) 300 ®) 240
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129. If the side of a square is increased by 5 cm, then the area increases by 165 sq.cm. The side of

the square is

(A) 13cm | (‘B)_/;-i cm

(€) 33em (D) 12cm

e smrsdan usssHar fargans 5 Qs.8. sifsfagb Curg Sisar Ly 165 5.Qs5.8. sfsisdpg
arafld, Sbs sgITHHen LbapHdn fond. |

(A) 13Qed. - . (B) 14 @s.ib.

(C) 33Qs.8. D) 12Q@s..

261 . T ' _ : :
121. If the radius of a circle is increased by 25% then its area is increased by

@ 50%
o (B 25%
9 sezw

(D)  46.25% -

| PO AL B 26% Sifsfisaiulinb upiy sfsfieb spesh

@ - 50%

® 2%
©  56.25%
O 4626%

262
126. e oicwpllen senganwi Curfeughamen D&l vTaranildansulalna egiT FRmeUS SHGET eTeaTar G

l}
s, enpuien her rsmmser 9 S x 6? B
(A) 1240 (B) 1400
(©) 1440 (D) 1660

6 : : . 2 .
The Minimum no. of square size tiles to fill the floor of a room measuring @ m x 6—m, is
‘ 5

(A) 1240 (B) 1400
W7) 1440 (D) 1660
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-89,

The perimeter of semicircle with radius 28 cmis
(A) 88cm ' B) 1i6em.
# 144 cm = . @ 56em
%UL'D 28 Q5.8 2 epLw amgsul'_l_giﬂsh'a;ﬁ)pmm(rm@' .
(4) 88cm | | _ ® 116em T
© lddem I ©) '56cm E

A cav1ty of 5mx 3m x 2mis filled with sand The cost of one cublc meter of sand is T 500.

' Tot;al cost to fill the cav1ty is’

% 15,000 . (®) 30,000

€ 50,000 . ' (D) 53,000 -

5 :_B x 3 8 x 2 5 yereyerer m @ oawrevmed .rf;ll;ruuuu@élmgj R Sar WL wewred eflaner I 500.
G ppBeugpster Qrsss Ggrrsmmrrmgg

@A) ¥15,000 | . ®) %30,000

(© 50,000 | . (D) 53,000 .

Fmd the length of the canvas 1. 25 m wide requlred to build a c0n1ca1 tent .of base radius

7 mietres and helght 24 metres - - - o

(A) 4_30.111

©. 4s5m” . @© 450m

£

7 Slir g %grqjom 24 Slar a_u_u;r@;pram_ug (T SalbL qu_csu aau_mj;_r-,ﬁsmsw qu_a_lemwasasgg

) Gg,smsuu.m&‘r 1.25 LB &5@3@@1_1u @UL@Q‘;@GUURUS]GW Esi‘rm .9;rrasu1"$

(A) 430L8_ | o (B) 440LB

(©) 4455 T (D 45018
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3. The area of field is ‘the shape .of' trapezium measures 1440 m?. The perpendicular distance
between parallel sides is 24m. If the ratio of parallel sides is 5 : 3, then the length of ]ungef
paral'lel side is . _

45m . C (B) 60m
W?ﬁm Do o -(I}) 120 m
@@ Fmia] prosrsdler Ll LiaTay- 1440.8° @yen® Genes @asrr@aa@ @eoL Qu e cter QariiEss)
Gamiigen o wiyih 2418, Gugyb @ren® @evean CarHaafcn aldsb 5 ; 3 eraflé) Quifiw @) ememrCammL_igan
ibemomeng) _ ' .
(A) 458 . ® 608
© 758 - | . (D) 1208

53. -If the capacity of c}rhndncal tank is 1848 rn3 and dmmeter ::-f its base 1s 14m then dept of
the tank is _ o ) |
@) 10m | - \ii!ﬁ' 12 m

(C) 14m . (D) 16m

| @@-&@ﬁnm'mq@ G‘Igr,m'.q.uﬁl&r Qandrerere) 1848 15 opmid &Iéﬁ QL g liLpBen mﬁhil_ﬂ_::. 148 -
arafléd 2455 @Emiiguiler e wroragl. L
@ 108 L ® 128
© 148 D) 1688

gg Area of trapez.lum is 960 cm?, The paral]el snias are 4{} cm and- EID cm. Flnn:l the L‘]lEtH.I‘l(:E

between paralfei sides

(A) . 18.2 cm. - L JIB.‘Z em

© 20.4em - - (D) 2l4cm

.@@ Eiﬂmﬁgﬁgﬁ@ Lyt QEQ cm2. oizan Gane ;Jé;.zs_r'njaash 40 em mm@m' 60 cm erafléy @anemr
LIGahsEEE @eLUUl L HIT5es Sre. o |

(A) 182em - B) 192cm

(©) 20.4cm | o M) 2l.4cm
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61.

270
2.

-

" The length of build_ing 18 40 m and its breadth is 20 m. A path of the widf.,h 1 m is made all
round the building outside. Find the area of the path, -

@A) 144 m?

S ®)  1%4m?
I 120
D) 104 m?

@5 Sig L &dler ;Emu:: 40 m sigen gysaid 2{] m asL:q_l_g,mg mmﬁ] Geuafiufed 1 m .gmmg@m@ LITeng
SI@DESILI (5] [b&med Limengudlem Ly erepren?

(A) ~ 144 m?
(B) 134 m? .
(€) 124 m?
(D) 104 ml"’-

Length and breadth of a room are 8 m and 5 m respectwely A red colour horder of uniform
width of 0.4 m has been pmnted all around on its inside. Then Area of the border is

\,W’ 9.76 m? \ R (B) 12 m?

(C) 10.66m2 I (D) 5.041113

8 8 Berapid 5 5 .smsuQ.an Qanem_ &b amg}lﬁ]m al_q;[}mmss -&Mfleurs 04 1 .aqa;eug@m Aaly - |

mcmsmuurrm; H,auu@aﬂmg sy euerertls Limengulden LigiLerey wWing? -
a) 9768 . - (B) 128%

(©) 106682 . (D) 5048

Three equal circles of radius 3 cm touch one another in outside. Find the area enclosed by
them '

(A 10.88cm? AW L5 em?
© 6llem? | | | D) 29.73 cm?

3 Q58 %u@pmm @mmj auL_BIEeT @surm;u@mrrwy GeuefiGul GM@LDGUITQ] Diaufmmed @,l.puu@m
u@@uﬁlsm um_n_| _ . .

A 10 88 Qs152 - (B) 1.45 Qa5?
(C)  6.11 Asf? ' | . (D) 29.73Ga8%



272
56.

273
61.

274
62.

What is the total area of elght squares whose sides are respectively 5 cm, 6 em,
7 cm, ..., 12 cm

(4) 650 cm® | @ 620cm’
(C) 600 cm? . | - D) 675 em?*

5 @&, 6 Qad, 7 Qab,. 12 Qal Lss BaTeyEMmaTE Qe GL(® sgrhEatien un’ﬂuma;sdﬁéf

- sa(Hpe cTeman?

(A) 650 Qss? B) 620 QsB2
(C)  600QsS (D) 675 Qais?

In a right AABC,[_B =90°, |_A=|_C =45° aﬁd AB=BC =a, then AC is equal to

@ 28 C® |

(C) 3a | . o ver a2 | o .
QsiuGsram AABC -é | B=90", | A =| C =45" wppb AB=BC=a, aafléd AC érwiy
A 20 | B 247 | |

© 3 ) ® o2

Let n, r, are the radius of two circles. If two circles touches internally, then dmtance
between their centre’s is equal to _ : :

A n+n . ' | W n=n

© & | ™ L ’

2
n, Iy erenuen @ GA.II_I_I'Bl&Gﬁm QPIRSAT s, @5 e L miser 2 LLpuwrss Qzr@uorenmd, el L
epLWLInIEEHEG G Cu o dteT wTeng

@ r+n | ® n-n
n
43

© rn D)
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